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Which of the following objectivez are true with relevant of Tamil Nadu Social
Welfare Board?

1 Upliftment of people living below poverty line through voluntary institutions
in the state

II.  To promote setting up of Non-Governmental Social Welfare Organizations

lil. To render technical and financial assistance to the voluntary institutions for
better quality and standard of services

IV. To strive for equality between men and women

(A) LIandIV

(B) 1L 1l and IV
L. 1II and IV

@fl I and 111

(E) Answer not known

gllpmrl snps po aunflugsees Ggnoiyecw Seramb Crréstiselld ag e amann?

L wiBagfd o da genamia Bpaerksd gpab aupend Cam QEss & amgpb
inGEsettar Guownums

IL 208 S10m saps e SeenioliSens @LILIME 8s@elisd

OL  Apgs gnb wppb Ceacusafler srafipsrs saemie Hpueambsesss QgmPaniu
whgd Bl & peilsenar aupiiggsd

IV. sgersmssn Quarsigrdsn oo diana sosgasdbens Urubeas

(4 LIHIwppo IV
(B) 1L I wimeb IV
(C) L III whgs IV
Dy L 11 whged 111
(E) ecBenL Clafluehidency
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2. Choose the correct statements related to “Black money”

()

(b}
(e

These are assets not reported to the Government at the time of their

generation,
Estimate of black money in India for the year 1983-84 is 95% of GDP.

“Tax havens” are typically big countries which impose high tax on the

foreigners who deeide to settle down,

Eﬂ.}/{a} only

(B)
{C)
(D)
(E)

(b) only
{a) and (b) only
{b) and (c) only

Answer not known

sl wanb Semiumer Spsnggib sapfis/mbnsafld sfluraadmn Cora (@ad i eyih

(a)

(b)

(ch

(A)
(B)
(C)
(1)

(E)

GR1P/21

fis wasuren @eoy eoeosdla aspusd obdl  sresg  peaa
QenBasciuBadidaa

1983-B4 b aengd, smiy uenifer ofuSireg, Gurgs edpri(
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mrfsd, gy Cus eramgb aafpn L el Ba ifle anfldseaminmu Seaflami.

{a) wi @b
(b)) wi G
(@) whmb (b) wHb
(b) iodmd () i {Hib

afilan Geflucidmea
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Statement 1: A major issue highlighted by census 2011 is that there are around
50 lakh less children in age group 0-6 years in census 2011 than
census 2001.

Statement 2: Population growth rate between 2001 and 2011 is lower than the
Population growth rate between 1991 and 2001.

(A) 81 and S2 are correct but 52 does not explain 51

(B) 81 is wrong; S2 is correct

(C) Both 31 and S2 are wrong

(@ S1 and S2 are correct and 52 explains the 81

(E}  Answer not known

ampml: 06 avy Gypmssdea aermflims 2001 wiser Ggras serslsiueu
GUilRisGung 2011 nésd Gares sensla@infla swomt 50 wlisn weny
E@pEsaTag. Pis cdvemn opsfu dOrssmenurs 2011 wasa gmens
semEtbainld s s s ol Rerang).

smpm 2: 2001 womn 20110 SpenGeeEnds Geoodore wasa Agras wertddl eigin
1991 wpmid 2001b SgeeBsends B dane wisa Qgres  amnad
disds e gl Renmild mapamamg) Sus0.

(A)  mpm 1 odmb 2 of, e safig 2, subn 1-Geman sfaisih s

(B) spmlseug. sapm 2 8

€)  spp loppo smpgy 2 GranGo sap

(D) sdm 1 wopmb spm 2 e 0. sapm 2, sapg 1ésman sfiwner eilensan

() aflen Caflweilaen
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4. What are the recent trends in the global economy which has led to RBI ‘sell buy’
swap of USIVINR

{a) Financial markets worldwide facing intense selhng pressures due to the
sgpread of Covid-19 infections.

(b}  Slump in International rl_':c-ude prices,

() Emerging market currencies experiencing upward pressure,

(A)  (a)only
(B)  (b) and (¢) only
Qe (a) and (b) only
(D) (c)only

(E) Answer not known

o @8 QAummenmgrrgdidan sfu Cunameefie awa FHidw Asddr adddldr (RBI) o0uwfss

Lmenft - @lﬁ.lﬂm mumd  Celidgnb-cumbgud’  ufwrpodens  WeawduBEs smpemons

S G LOV T T TR

(a) Garedl-18 Gumiblsnpore o asardla @ shossdar spdis wmn alhoman
Qem_fiumen Sefily sipdss.

(b} o asspengula séen erardeny elamea #fley.

(c)  suemilg eumib spengaeiicn premmy whiy CuaGnrédy supissms shdllug.
(A) (a) wi@Ebd

(B)  (b) wdmub (o) wi Fib

(C) (&) whmd (b) wlHib

(D) ' (e) wifb

(E) &S Esfwaibane
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Name the first backward classes commission established in the year 1953,
(A} Mandal Commission

(B* Kalelkar Commission

(C) Harbajan Commission

(D)  National Commission for backward classes

(E) Answer not known

1963é AmeliulL aped AHLEESOIULL aElLsE Spenmmusddn Cuvags @hlunSiab.
(A)  ndErLd senamuib

(B) asnGadsi seenamulh

(C) aonage e

M Genphdly eigisenesra Coélu enamub

(E) el Gpfweiideana

Which of the following statements regarding Arignar Anna is [ are corvect?
(a) He served as the sub editor of the “Justice” Magazine

(kY  He became editor for “Viduthalai”

(¢}  He was associated with activities related to Tamil Weekly paper “Mudi Arasu”
(A)  (a)only (Ryea) and (b)

(C) (b)and (c) (D) (a), (b) and {c)

(E)  Answer not known

ifsit e updlu sfluma sbap [ sappsaa Caray alwain

(@) e ‘8 uHfesden genew s fiflgrs vaflumpblenm

b)) Epsee’ ubdflmsddn g ffums veftunpdlenn

(€}  ppgwirs’ srgud S0 sy Esh Sgrfurer uaflseafls FRHul LT

(A) {(a) wl@Bb (B) (a) whpns (b)

(C) (b) wnmubd (c) (I3} (a), {(b) whgud (c)

() efen Qgfwelceama

In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar
Kazhakam'”

{M Salem (B) Namakal

{C) Dharmapun (D) Trichy

(£} Answer not known

1944 pen Qupm wipm_igd fllsd £, Soreblon spsons omhlug.
(A) Geenb (B) mmodsd

(©)  sihouf D) S

(E) ellen Gafluaiseamea

7 GR1P/21
[Turn over

Lotast Sorkori Jobs, Govt Exorm Rosults,

Voeonckes and upaatas on ona elick




8. Which among the following statements is not an objective of “Cradle Baby Scheme"7?
M To ensure adoption of family planning

(B)
(C)
(D)
(E)

To eradicate female infanticide

To increase child sex ratio

To increase the rate of girl child literacy
Answer not known

Semeumid smppsaafic ‘Gamiigd mppems SO sda’ CErésd sidhenss a7

(A)
(B)
(C)
(I
{E)

IL.
I11.

(A)
()
(E)

II.

(C)
(E)

GR1Pr21

RiLOLIE &L LR uhenpens n_ﬂﬁ er.f.lmﬂ
Gluas Assblamaaenu gilliug

@phens Lndlen slssms sBafiig

G Eobmgsatian sdeiluifiena sulflafliug
altleni ﬂﬁﬂﬂ.ﬂiﬂﬁm

To transfer the substantive provisions under the Indian Penal Code
Dowry givers should be exeluded from pumishment
Appointment of Dowry Prohibition Officers

The marriage expenses should be limited to 20% of the annual income of the
girl's parents/guardian.

Which of the above statements isfare true concerning the Dowry Prohibition
Act, 19617 .

I anly (B) Il only

I and III only O All of the above

Answer not known

@ hEiw mar_snemd 5 gflen i) saflsomne dlfsmer wopmess

aurg s CarBlraised e menudichmibsy ewsalii. CadnBi

ULl senamt pan syflsmilsamen Sluiflsgd

Hoyoams Qsaasdr Quansaiar QupGpmt | Lngsramfla e amorengdd
20%dgen Emis Gaen(i

1961, agslsman e dol i Gemofune Copsar. sonsefla am [ eame
£_ERTann 7

I il (i (B) 1l w b
I wapipad ITT ind (b (D) Cudsem. eersgb
ahtenL Gmflichldencs
bad n
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1.

Il

The Samarasa Suddha Sanmarga Sangam was founded by

(A)  Dr. Muthulakshmi Reddy
(B) T.M. Nair

(C) Thanthai Periyar

W Ramalinga Adigal

(E) Answer not known

SIOTE HE SANOTTES ShibGans o (Haursdlwet
(A) Dr. apss@alasad dnlig
(B) et mmuf

(C) phens Cuiwmi

(D) Eomoditis g se

(E) dlac Gaflucideane

During 1820s in Tamil Nadu the subordinate castes were generally prohibited from

(a) Using umbrella

(b)) Wearing shoes

(e} Wearing golden ornaments

(d) Wearing turban

(A (a), (b), (c) (B) (), (c), (d)
(C) (e}, (d), (a) (D} (d), (a), (b)
(E) Answer not known

1820 sefid gullppm g smphsoul L stdldamas ungens geus Haouuue L ma

(a)
(b)
()
(d)
(A)
(C)
(E)

EenL L ULy

st oeafioug

BIisE Heans Svemtleug)

L L ve <yemfleus;

(a), (b), (c) (B) (b), (e}, {d)
c), (d), (a) (D) (d), (a), (b)
e, G fluseldens
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12. What are the facts related to defining GDP?
(a) It is not for a specific period of ime,
(b} It measures only goods and not services.

() It 15 & non monetary measure.
(A} (a}is correct; (b) and (c) are wrong
(B)  (b)and (c) are correct; (a) is wrong

{M (a), (b), () are wrong

(D)  (b) is correct; (a) and (¢) are wrong
(E) Answer not known

Glongs eapr @ o pugsl (GDP) Ggm_funes sfluna sapep/sepmseoar Gaiey Geda)b,
(8) =@ g @biedle L st weruenss o fsras s,
(b) g "CunmCad” Aem_furer e seralCLwnEd, "Craas" Qem.fuimearg e,

(€} =i LD STTE SeaTell L.

(A)  (a) =i (b) whmid (¢) seumy
(B) (b} wdpnb (c) #Al; (a) seaumy
(C)  (a), (b), {c) peumy

(D) (b) el (a) whmub (¢) seumy
(E) efen Geflueidma

13.  Which District is oecupying the last rank in Human Development Index in
Tamil Nadu?

(A)  Villupuram (B) Theni

(C)  Perambalur Qe riyatur

(E) Answer not known

SLAD g en e onau Lt nafls Guobum’ B L cmandia s Al b ellfldmg?
(A)  eSpplib (B) Cuef

(C) Quybugnt (D) cofwgait

() elleo Qgflwielidena
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14.

Match the following :

(a)
(b)
(c)
(d)

Author
Vannadasan
Ingulab
Ramakrishnan
Cho. Dharman

@) (B () (d)

(A 1 2 3 4

(B) 3 2 4 1

o 3% 2

(D 2 3 4 1

(E) Answer not known

& paam_subeann HunmEgs
AR

(a) wamengTsE

(b) Eenmami

{e) pmodlmaiyeamren

(d) sinoen. Csn

(A)
(B)
(C)
(D)

(E)

) @b © (d}

1 2 d 4
3 2 4 1
4 3 1 2
2 3 4 1
e Wefwsbldens

e

Kaandal Naatkal
Oru Siru Izai

LB UL/ LD
FETATTLD

il

SNBESET BT ST

g Sl Gens
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15. Child Development Index takes into account of the following factors
1. Education
I1. Income
I1I. Health

IV, Nutritional status

Select the appropriate combination.

(A) 1,11 andlll

@ 1, 11 and IV

(Cy LIlandIV
(D} 1L, 111 and IV

(E) Answer not known

@pheg Cuonum_ Ga gildh Geraumb srraflsmat senddlo aisEE Qarardipg
L Ses

II. aumEwmanh

III. s&mgEmyb

IV, om’i éssg Hlene

shlwran Cofrdensanu Gara Galwaub,

(4) L 11 ohpun 11

(B) 1, I whmub IV

(C) I II epmon IV

(Dy 1L, 1 wapo IV

(E) eblen. Cgfwelldens
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16.

1.4

18.

Punjabi language has close connection with

Hindi and Urdu (B} Hindi and Sindhi
{C) Persian and Urdu (D) Sanskrit and Hindi
(E) Answer not known

LighamSl Guomyf oL e Gipmiadu Qem My 2 g,
W)  abitd whpb o me (B) et whph fAhd
(C)  umpdsb wfpb o (D) sweudimsio wigd plhs

(E) eflen Gesfluslioma

Which article of Constitution of India mentions the abolition of untouchabality?

(A)  Article 16 (4) @ Article 17

(C) Article 18 (D) Article 19
(E} Answer not known

Eipdly gl abs s0gg Sam_rawn Uiy upf wdiod héns?
(A) 16 (4) suésy (B) 17 snaai

(C) 18 s0ém (D) 19 svag

(E) eflen Gpfwelhana

Which ideology threatens Indian Unity?
M Communalism (B) Communism
{Cy Democracy (D) Socialism

(E) Amnswer not known

e SRS Fhdu ooy sssg sgdng?

(A)  esmieungD (B) Qungaenans
(C) nEsam # (D) Cerflwdisd
(E) efleor Gsflweiisens

13 GR1P/21
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19.  This place 1s located 12 km South East of Madurai. It proves the fact that an urban
civilization existed in Tamilnadu in the Sangam era on the banks of the river Vaigai.
A researcher and retired civil servant Thiru R. Balakrishnan points to the
similarities between this civilization and Indus valley civilization.

Which of the following places is described in the paragraph above?
(A) Azhagankulam

(B) Porunthal

(Gl Keeladi

Dy Kodumanal

(E} Answer not known

Bevehl b wgeanSdmis Cgadlpas Seslo. 12 4.8 Gsreowdd smuhydeg.
sullpssdles eaes Hiplsordd susstaw spsp prsfled scectidmiss uniu
sy uapsThndng. orosfurermd gley Gupp irs  sBisrflore
. . urad mayewen, Gkis smwpdEps Frefssimn g swbael prafsss Heb
£_TeT GRS S i S HElmn.

Guoa @dlCSC Bemer B b wirg?

(A)  spsengenid

(B) Qummssd

(C) &g

(D)  GsnBuwess

(E) aflan Gafluaidama

20.  Which book explains the four noble truths of Buddhizsm?
(A) Nettiprakarana
@ Petakopadesa
(C) Buddhadatta
(D) Ananda
(E}  Answer not known
TS Lighmai Ligs wasSlen mrang efls o arennsena el g 7
(A) Gl 3ysryenm
(B) (9. Gan Ligsn
€ usssssn

(D)  syempan
(B} eflen QaflusBaame

GR1P/21 14 n
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21.

22.

Who first brought Christian faith into South India?
(A} Martin Luther A (B) Ignatius Loyola

{C) St Francis Xavier (WSt. Thomas
(E) Answer not known

apsan apedida dfisge polsasamy Fearafibdunding ararmhseaur wim?
(A)  ioninge gnsi (B) ElaCanFwisn @Gumeon
(C) yeflg Sgrendlay Caefhu (D) Lefs smosh

(BE) allen Gflwelldana

This Philosophy was purportedly founded in the 5% Century BC by Makkhali Gosala.
It was a major rival of vedic religion. It reached the height of its popularity during
the rule of the Mauryan Emperor Bindusara around 4% century BC. This School of
thought was followed for nearly 2000 vears through the 14t century CE in the
southern states of Karnataka and Tamilnadu

Which school of thought is deseribed above?

(A) Carvaka
" Ajivika
({C) Lokayata

(D) Mimamsa
(E) Answer not known

Eastgens &oap By prpmremgd wesmdl Carsrapnrd Boelul e pEsamd ey
sfuiuBios. Bs Gas wssdieg Qumb sarars Bmess. @, sword Sap. daub

- mndmrsengd Guerflud Guggslt Gigemyreldn 2" AF sragdla ysifldan o dagons a5,

Séssgann £ 14 b pporar@ ey Alogsc 2000 ayenh  arehse
Gaemnniiokaamen stmm_sr wHpn S8pesdha Qamorbs Gemuppiot. g

Gindram gl eflaufily ahs shgraigas milibng?

(A)  sTearsT

(B) yflausmd
(C) Cearsmugid
(D) ulombsn

(E) sflen Gafluefdana

15 GR1P/21
[Turn over

Lotast Sorkor Jobs Govt Exam Rosults,

Voooncies and updotas on ona click




23. How the coronation of crown prince was described under the Vijayanagar rule?
(A) Aswamedayagam
(B) Pattabhisegam
(C) Satabhisegam
W’Yuvﬂraja Pattabhisegam
(E) Answer not known

eflgpupait g Suiler £ @araursfien qpym L@ maaunm SEnpEsLC L 57
(A) sievesCinguimesD

(B) uwCLm3Caysib

(C) sgmiCassb

(D) weugmg Ll mSCessin

(E) efar Qafiwelsana

24.  If a simple pendulum with the mass of the bob as ‘M’ has a time period™T", then if in
the same pendulum another bob with mass 2M replaces the original bob. Now the
time period is (It may be assumed that the string attached to the bob has no mass)

(A 2T
T
(B) s
Q- T
3T
(D) T

(E) Answer not known

M erésp Benp Garan_ g seflgyedian (simple pendulum) sispaey Cemb “T* aan & dnang,
Glen syggefigsdian smapEan(y wrhpiuBeasrd sga Beop 2M s wipdng. sHCunE
Sige SenaeyGprd aaarans @mEEnT (easpEdral grigd Gew Fapupmerata

E:E!‘;ﬁﬂjl'rlj:l}
(Ay 2T
T
L
(B) >
i S
aT
(D) 5

(E) eflen. Qsfuiaidene
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25,

26.

Alamgir nama was written by whom?

(A) Jafar Khan WM uhammad Qazim

(C) Aurangazeb (D) Mukhtiar khan

(E) Answer not known

bl mmorae @uhdliug wri?

(A)  mprlaui snen (B) npambug smadlh
Q) apmsfl (D) ppsguent smer
(E) efen Cafluehicvme

Arrange the chronological order.
1 Death of Humayun

2 Second Battle of Panipat
3. Building at Fathpur Sikiri
4 Proclamation of Din-illahi

(A B-1-4-=3
(B 1-2-9-4
() 38-4-2-1
Dy 4-8-2-1
(E} Answer not known

Apaam_supap sare suflameiubsss.
1. @rreLnmy e el Ehmi

2 Bowermb urafllud (§ Gum
3. uCstyh AEf aC L CuGed

4. S Banadl wgb sy

(A “B-T-%-3
B 1-2-34
)  3d-4-2-1
Dy 4-3-2-1
(B} eBen Gafweiidana
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27. Which land distribution system adopted by sultans of Delhi?
{M Iqtadari (B} Mansapdhari
(C) Subhadharn (D) Zamindhari
(E) Answer not known

Gl ségranmarma gopsbararenin L Sl afiBiGuns apeanp g ?
A @épanf B) wensiignf

(C} sugrf (D) gbengmfl

(E) e Gmfivadena

28. Match the following :

{a) Mahabaladhi Krita 1. Commander of the Cavalry

(b) Mahashvapati 2. Commander in Chief

{e) Mahapilupati 3. Chief Justice

(d) Mahadanda Navak 4. Commander of the elephant force

{a) (b) (e) (d)
(&) 4 3 2 1
2 1 4 3
cy 1 2 3 4
Dy 3 2 4 1
(E} Answer not known

Sipsamm suban Eummsgs.
(a) warurad Smis 1. @feyusn el
(b) wamevauLd 2. ue§ gaud
€©) wvamSgd 3. sewawn iud
(d) IDETHETL [BTLI& 4. LiTERETL Lishl & SarLid
(a) (b) () (d)
(A} 4 3 2 1
By 2 1 4 3
Q) 1 2 3 4
oy 3 2 4 1
(E) eflene Glgflieiidena
GR1P/21 18
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1.

Who was the Director General of Archaeological survey of India at the time of Indus
Valley excavation?

(A}  Dr. R.D. Banerjee Mir John Marshall
(C) D.R. Sahani (D) Max Muller
(E) Answer not known

figg swbawel syspeurmmusfiben Gung Gddu Gereadummed suiicilan BludEnt Ggeangs
L) g

(A) peemaud R.D. Lineningdl (B) & gmen omTasea

(C) D.R. sgpmefl (D) ion&eh gpsbeoi

(E) efeni GaMiuchldmen

More than 500 seals have been discovered in Indus Valley civilization which are all
(A} Geld (B) Silver

(& Terracottas (D) Copper
(E) Answer not known

Sng swBeaal prafsgda 500-sm0 Copule apgfarsd sarQuBastul Lg. s@ausdr
el FrflEEIUC LS.

(A) ghsb (B) Ceadraf]

(C) nemawnd Gelwliuc g (D) Gasbuy

(E} <Ben Qafusiidrancs

The source of dendrothermal energy is

(A)*” Biomass (B) Coal
{C) Pyrolysis (D) Natural gas
{E}) Answer not known

et s hmeilan (dendrothermal energy) <gusnmb erenuig
(A) e drgfga (B) Heosadl

(C) Gelufagea (D) Bupens eumy
(E) ellen Gefiwelldana

19 GR1P/21
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32. Which of the following is the consequence of climate change related warming of
rivers?
{A) changes in water salinity
Mzhﬂnges in fish migration patterns
(C) changes in pathogen load

(D) changes in contaminant levels
(E) Answer not known

Heraumeuareaidiien eg plsafien sroflae Gasm_miras Geuliuwwiongafean eflamaney?
(A) B elius seemw wrhoss

(B) e Hro@uuwita apenn wrhomiser

(C)  Copmisfflfad: orcimenfliens irhpkiser

(D) & osgs w0 L G8d nrhpiisd

(E) dilen Guflwichldoene

33, The major cause for the depletion of Ozone is

(AW Acrosol

(B) Hydrogen Sulphide
(C) Hydrogen Sulphate
(D}  Carbon di oxtide

() Answer not kﬁuwn

glenenan siflémn pddle smraf
(A)  @slucsb

(B)  evamCrmen s e

(C) @anlymenr i .Cul

(D) aniues e Sgsaa(H

() e Ogfusiidme

GR1P/21 20 Iy
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The pollutant which cause impairment in plant metabolism is
(A) Nitrous oxide

(B)y Carbon di oxide

(™ Sulphur di oxide

(D) Carbon mono oxide

{E) Answer not known

smee) cuanifleng wrhpddd geapliun e gUEESID wre
(A)  enplge spdenan(

(B) asmiuer-an - sy smand

(C) saui-a-sp&aan

(D)  smiusr Cuomanrdae®

(B) sflac Gaflusiidme

The Chairperson of National Disaster Management Authority is

(Ay”” Prime Minister

(B) Home Minister
(C) The President

(D} Defense Minister
(E) Answer not known

Gadlw: Cuflot Cuoaramas yoanugdles samaat
(A)  Gogw wH A

(B) eagemn whdf

© genod

(D} ungsmiygen widf

(E) sblen Qufliehleana

GR1P21
[Turn over

Lotest Sorkori Jobs, Govt Exom Somults,
Vosonghss and Updotes on onag elick




36. 'The most important scheduled tribes of Uttar Pradesh and Uttarakhand

(A) Todas
(B) Nagas
(C) Santhals

(B9 Tharus

(E) Answer not known

o g8ndrCssh whpd o gmraramse Bs apsduomer Lpiigs e

(A) Gam i
(B) prasi

(C) smigeey
D) s

(E} eflao Qaflwealicenc

37. The most populous State of India is

{A) Bihar

(B) Maharastra
(& Uttar Pradesh
(D) West Bengal

(E) Answer not known

Sifls weaLdarmsaw GaranL. Ghdlw wrflan
(A Sapmi

(B) iosnoreigwyih

(C)  egBraSpCaac

(D) Gud suksb

(B) elien @pflweSdmea
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29,

40.

The total no. of railway zones in India are

(A) Fourteen Zones (B) Fifteen Zones
{C) Sixteen Zones (D) Seventeen Zones
{EJ A er not known THE QUESTION AND ANSWER ARE TO BE

PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISTON.

Englurelia pulaGe wan_aisatidn Cungs ereareaflsas

(4)  uvbemeng wam_oRsd (B) uflenenig wanL wRissr
(C) ufesmy war_eksd () LG e sk
() dSe. Gsfudiame BaCadall wpgis ala Gug) goy allpars

wagpr gopalla pa eaadssiu. e aay.

soil iz found in all the districts of Tamil Nadu except Nilgris.
(A) Red soil (@ Mack soil
(©) Laterite soil (D) Sandy soil
(E} Answer not known

waer suens, sy prigd fadfleou gy bHp Seeisy wraul L ksafgib

aner uRdng.
(A) Qsbwer (B) =flsd weair
(C)  gmssdwoan (D) wewrs) wew

(E) efla Ggflweiaena

ldentify the option in which the rivers are given in North - South sequence,
{A) Godavari — Mahanadi — Kaveri — Krishna

@ Mahanadi — Godavari - Krishna — Kaveri

(C) Krishna — Kaveri — Godavari — Mahanadi

(D} Kaveri - Godavari - Mahanadi - Krishna

(E} Answer not known

aul & - GEng auflasua s QanBiEslul ferar GamanD Sl LaTh SrEns.
(AY Cargraufl — nsrpfl - srleufl — £megemn

(B) wenpd— Caogreufl — &meparn — srideaf]

(C) dlgmsyarr — anGafl — Cangreufl — wansd

(D) srCafl = Cangneaufl — wanph — £ mayemm

(E) eflen Qpflweiidana

GR1P/21
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41. A super computer that allows researchers to model energy technologies using
artificial intelligence is
Joule 2.0 (B) Watt computer
(C) Zetta scaler {D} Fugaku
(E) Answer not known

wrdfl mppd Garfle miugdes mgomodflureisdr Geupess mewvendle; pped
aumpennds Galugn Cuodin’ L saefleafl

(A) e 2.0 (B) eun sesfiadl

() HlinauGaer . (D) pmmdan

(E) eflen. Gafludidea

42,  Which of the following facts about Covid-19 virus is / are wrong?

{a)  People who have been infected by the virus but do not have symptoms do not
spread virus,

(b)  Reinfection is not possible.

(c) Anosmia (loss of smell) is a symptom.

(dy Babiez do not get infected by Corona virus.
(A) (a) and (b) only

(B~ (a), (b) and (d)

(C)  (c)only

(D)  {d) only

(E)  Answer not known

Genefl - 19 aeureh Gam_funen Epsrgnid sppsald gapren smbenn/smipscea Gaiay
(Fdiumyb

(a)  eoeugen Ganpm e b monElgeh, ofieblsd Heonsaraanms barhm Lrerg.
(b)  gEpes GETHE ThuULL FUGEES Sean@io QETHm aHuTg.

(€) 'nosihgy e esmb gemen Bioly - BESsnhiie wnlimdlumsb.

(d)  Ephossmss @sCsmhm Lrang,

(A)  (a) wpgd () v Gid

(B)  (a), (b) wimb (d)

(C) (&) ol G

(D) (d) ol b
(E) die Qaflweidme
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43.

“The one who gave false judgement (Ethilalan), was deeply hurt by himself as a
woman who pulled out ene of her breasts to burn the city”,

These lines which seem to indicate the story Kannagi is found in which of the
following Sangam Literature texts?

{A) Kurunthogai Mﬂttrinu.i
(C) Puranasnuru (D) Akanaanuru

(E) Answer not known
‘gfleunaran sauma Swh

ST (P SNEES Elmor o el —

savemfulidn apenpepsd gfiluug Cure steriuBn Raefsa GuoCupp sws
[Bwosduib

(A)  @ppEsiens (B) priflenss

©)  upprgn D} sprgrm

(E) sflen Gafliualildama

Which of the following rivers originate in Karnataka?
L Bhavani

II. Palar

III. Pennaivar

IV. Cauvery

Choose the correct one :
(A) I, 11, I (B) IV, L1
(© 1,1 (RyesT1, 111, IV

{E) Answer not known

Spsan_wpper aps symsd sEr_s wrBaoiddo o dugfundapa?

L uaumaf

IL  umemgy

1I. QuereaTumy

IV. aneBfl

aflwnenaufenn GgilsHssan -

@& I 1, (B) IV.L 10
(C) 1, 1V.1 (D) I, OI, IV

(E) dfilenc. GaflueBidama

GR1P/21
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45. Consider the following statement
(1)  India Introduced the family planning programme in 1950s
(2)  The family planning programme adopted Neo-Marxian approach to birth control
(3)  End of National Emergency Ruled out compulsion in family planning
(4)  Planning and implementation was carried by central Government

Choose the correct answer :

(A) 2 and 3 only correct Mﬂﬂd 3 only correct
{C) 2 and 4 only correct (D) 1 and 4 only correct
(E} Answer not known

ipacim_ s hSsenaT SHHeLD |

(1) 1950 b sanBsafia Gidu ghou sCEUG S jas sPlpsiuBiug

(2) @Hbu siGur® Aoy uyfu-wrify sgnecpende  Spluee B
Qalwiiiuc L g

(B Capflu Apmesy opgasE afigedn Do sLGOUMNE sLLmunrssuULadma

(4) Al whph Geudufisd ngHu spemb Cuitardraniul L gy

sflwren eflen_amu GuipbsHesab :
(A) 2 opmd 3w G = (B) 1 wdmd 3w G ef
(C) 2 wpgnbd 4w (B #f (D) 1 io@pb 4 v [Hub &

(E) efen Qaflweidaa

46. Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded to
(A) Tmt. Senthamil selvi
(B) Tmt Muthammal
(C) Tmt. Ananthavalli
(W Tmt. Senthamil Selvi, Tmt, Muthammal, Tmt. Ananthavalli
(E) Answer not known

afiy Quewiggbmmen, 202000 Ly emg e ssuenn srayat eblmgy —————— &g Sefléatul L g
(A)  Smod. Cleggubip Gedebl
B Sowd. cpbsidond
©)  Pood. pepsadnad
D) Fmiod. Qepgiyp Qedel, Amedl. pisburd, Aol gepsacal
(B} aflen GOgfuchldense
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47. The word “Sustainable Development” is clearly indicative of the fact that
M Natural assets are finite
(B) Natural assets are infinite
(C) Natural assets are not resources
(D)  Present model of Development promotes stability in nature
(E) Answer not known

“Hlena Bmgsid o Sellmid" egyb aunigens garatfiuons gillug

() @uims Qorgbest Yaaipbsmns

(B) Bupes dsrigesdr qpigennss

(C)  Buhens Gendgindr suamiser s

D) spCuresu aeaied wrdfl Bubes sufirgsarmuamy ensgadlsdng
(E) dileo Gsflueiidbana

48, The following are the funections of Niti Aayog.
Find out which is/are wrongly listed
L To foster cooperative federalism
II.  To give final approval to five year plans
I1I. To implement schemes for rural development
IV. Toadvice the State and Central Governments on levying taxes

(AY Iandll (By 1,1Iand Il

(Que” 11 and IV (D) Only IV
(E) Answer not known

B8 wCunsfer vafad £Gy AsrBasul Haraar

@fa arg/ eeneu gauprs GerHas i FGerarg

L Sl (RDa] sl Flenw euaniihsd

L ghsrand Sl bsaic GO s seljpe

Il segs cerisflasmarn § L famar SuoeUHEsH0

IV. wiflu wigd wrle sresEsss afl s e iuns sblaeny agplgsa
(A) Tuwoppdl (B) L II wapgn I

(C) 1 wppes IV (D) IV wl@Gb

(B} eflen Qafwuelene

n 27 GR1P/21
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48.  Which of the following statements regarding political parties in India is/are correct?

(a) Parties in India function within the institutional framework of a federal
structure and are bound by the country’s electoral laws and rules

(b)  Strong institutionalised parties are vital for healthy democracies

(A) (a) only correct (B) (b) only correct

(€0 Both (a) and (b) are correct (D) Neither (a) nor (b) is correct
(E) Answer not known

srélwd sCfsd ghiss Sparariuin arsdukises o/ e sflwrarane?

(@) @ siwflue s fsd G sl A sl swoubes Gaudu@fdamen Cuogih
g Gaiged s s nhph dlfisemss s’ floGddamea

(b)  Aplumer memmmus prsEsss agere  Spaenordstiul,.  siflsda B

opadluiomenanea
(A)  (a) Ll Gd s (B) (b) wi Gib
{C) (&) ohgub (b) wi B af (D) (a8) wib @evenav, (b) wyb Feenan

(E) ellane Qafiuwaidane

50. Which of the following {Book-Author) is wrongly matched?

(A)  Half Girl friend —  Chetan Bhagat
{B/ My country my life —  Dalai Lama
(€) Born again on the mountain -~  Arunimasinha
(I}  The country of first boys —  Amartya sen

(E} Answer not known

Epdanseiud LsssRsd LHDD SEdE apfgTaTseid sauprs AUIDESOLL D)

&7
(A) aomisfa g - Gegan LsS :
(B}  rén Cmb erein cumpsons - e emon
€ vosly larfo Spited - smeforeldan
D) s yamSamarseflan Coobh —  wunitgu Qedn
(B) B Opflucioome
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al.

Match the sport with the corresponding number of players :
Sport No. of players
(a) Polo 1. 156
(b) Rugby football R
(¢) Hockey 3. 9
(d) Base ball 4, 4
(a) (b) ) (d)
(A) 1 3 4 2
4 1 2 3
(€ 3 1 4 2
m 1 4 2 3
(E) Answer not known
smerrUEHD eflanemun g anen s Ceamanumar eipfsafin cramgnL dr Qummisns
waun(® efigisar araRy
(@) Gurenr T
(b) &S srdups - O ) |
(€) porad 3. 9
(dy CGusoumd 4., 4
(a) o @ ()
A 1 3 4 2
B) 4 1 2 3
© a 1 4 2
M 1 4 2 3

(E) allen Qsflwaiisoene

Which of the following is/are not situated in Rajasthan?
{a) Dilwara Temples

(b) Mehrangarh fort

{c) Bara Imambara

(d) Purana Qila

(A) (a) and (b) @ (c) and (d)
(C) ({a)and (c) (D) (b) and (d)
(E)  Answer not known

Epsnerliufiuerasaiien erg)/ erane prgeogmatie e masetlaamen?

(a)  Sasurgr Ganrebldser

(b) Ceaprisrt Camiane

ic) LI DAL

(d) ygmenr den

(A)  (8) wimis (b) (B) (c) wpmid (d)
(C) (&) wignd (c) (D) (b) wihpebd (d)
(E) sile Gsfwsbldas
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53. Match the following women personalities with their achievement

(a)
(b)
(c)

(d)

Personality (Name)
Anna Rajaram Malhotra
Sarla Takral

Arunima sinha

Surekha Yadav

@ o (o (d)

(A) 1 3 El 2
(B) 2 1 2 4
{G-)-ﬁ 1 4 2
Dy 3 4 2 1
(E) Answer not known

Achievement
India's first female to fly an aircraft
India's first female train driver

India's first Woman [AS officer after
independence

First Indian woman amputee to scale

Everest

£ phanau @D QU FTSmanUTaTE@ET SeuSar sTgeanLL e shuns unmsss

{a)
(b)
(c)

(d)

(A)
(B)
(C)
(D)
(E)

GR1P/21

sngenamurant | Guwim)

<DieremT grggrymb waGanrggn

FTGIT ST

Simblor Slargmn

HETET wirSe

(a) (b} (e) (d)

1 3 4 2
3 1 2 4
3 1 4 2
3 4 2 1
ablen.. Gaflwellsana

30

O

&) dbluimeflen qpme Eredor el iomedl

B aflwirshlen apsd DU Brulé @l bmd
sapfy  @afurda oo
IAS suyflmafl

AT

ETEUTS0L

disggens
glamgasluCL apge EH8w Gl

SAEnL i, amel
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Match the Tourist spots of India with their States

{a) Hampi 1. Andhrapradesh
(b) Horsley Hills 2. Uttarakhand
(¢) Hogenakkal 3. HKarnataka

{(d) Haridwar 4. Taml Nadu

a) (b) {e) (d)
{ 3 1 4 2
By 1 2 3 4
() 2 4 1 3
D) 4 3 2 1

(E) Answer not known

@pfureilan shyens goksama g wrllansCan® durmigs

{a) appd 1. Edod GrCssn
(b) gomirduGe granmyme 2. esfrsnam_

(c) wCamisd 3. SAEM_&D

(d) apflégeumt 4. glpnrl

(a) (b) (c) (d)

(A) 38 1 4 2
B 1 2 3 4
(C) 2 4 1 3
1

(D) 4 3 2
(E) eflenr GaflweBcana

Where was the venue of the 37 Global conference on road safety in collaboration with
WHO and world Bank in 2020,

(& Stockholm (B) California
(C) Holland (D) Geneva
(E) Answer not known

202006 o as ssnsny St (WHO) oigs oes ekl (World Bank) Beants st
ungisTiy upfiu e statss smisrmis sobupy Bl ag?

(A) eonmsEGagnmb (B) Caai..umrafiwum
(C) Capranig (D) Qegaficun
(E) eSen. Qafwelima
GR1P/21
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56. 'The term biodiversity indicates

{A)"’ Species richness and genetic variation

(B) Species richness and habitat diversity
(C) Genetic variation and diverse ecosystems
(D)  Species richness alone

(E)  Answer not known

Ushgguflwn ey o ulifGudmowib e ush gRimBaug
(A) @endlsgpeno whmb wivgy Saugun®

(B)  @eséECagpann whpb aumpeli O usnowib

(C) gy Caugun whpb udms spaenlisd

(D) @BersGaqpenn wi (G

(B) eBen Qgfuciidme

57. Kidney stones are formed by the Precipitation of the following chemicals

I. Cystine

II. Oxalate

1II. Uric acid

IV. Sodmum

(A) Tandll (Rpe#T, 11 and III

(Cy IIl and IV (D) LILIIand IV

{(E)  Answer not known

g B e Gunmlsdr ugeusian apad Apfos spedr e mandanmen
I, Hlem e

11. S me e

oI uhs saflesin

IV, Gamguib
(A)  Twopmb 11 (B) L II wmmi 11
(C} 1T inggeis IV (D) 1,11, 111 whpn IV

(E) elen Qpfwelldena
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58,

89.

The colour of the skin in ripened apple, tomato and grape fruits is due to

accumulation of

{A) Carotenoid {B) Lycopene
W Anthocyvanin (D) Ethylene
(E) Answer not known

LpEs sl sssrefl whpo Srm_sedien Gereler Hlpgd Deé sopamb
(A) sCrrligemmi  (B) eowalsmSen

(C)  menCgmenswieian (D) epfcfien

(E) efe Gafweiidens

Single cell Eukaryotes are included in
{A) Fungi (B) Monera

(&} Protista (D) Archea
(E) Answer not known

giens Ged WEafGun GHésd Bleupmed abien o migdng?
(F ) T (B) Qurafipr
(C) yGrmigem (D) =yrsflur
(E) e Gafweldeare

In the Haber's process for the manufacture of ammonia
Finely divided iron is used as a eatalyat

(B} Finely divided molvbdenum is used as a catalyst

(C)  Finely divided nickel is used as a catalyst

(D) No catalyst 18 required

(E) Answer not known

Gapui Gewaopenpaild, subGorefiur sumisseda

(A) Apgesasemissuc e @by sblemenysduins LwenuGEipg

(B} Hp gedasearrisiin c wrelllnSieemd shleanyissluns LoapEng
(C) Ay gedsamssiu’ L Héso sl sduns uwdwBéng

D) wps chenenysfivpb ComaiuPafidm

(E) cllen Gaflwelidens
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61. What are isotones?
{A) Atoms have same number of protons but different number of neutrons

(-3"" Atoms have same number of neutrons but different number of protons
(Cy Atoms have same number of protons and neutrons
(D)  Atoms of the same element with different masses

() Answer not known

s CarC_ransar eraim e wimane?

(A)  ess yComiirdr sremedlEmsuyh wrpule Buy gran  cemefidesun 2 enul
o ) 5 T

(B) iz S g earafisasyn wrpucl. yComiore semafiiSamsuh o aw
0 R T

(C)  epds yCpmimér wpmd Syl gmen sramael S@auD Ll SyEpsse

(M wegull Bepuyeneu gy saflogdd sugpssd

(E) sl Gafluaiidama

62. Silicon is one of the best known semi conducting material. As its temperature rises
more, it becomes a better conductor. But the temperature at which the silicon gets

permanently damaged is
(A)  100°C e is0°C
(C) 200°C (D) 250°C
(E} Answer not known

Sdlssnen, Hops SPhoouce  Gepsogisais  geprEn,  Sgar  Dacudlena
siflafmeues g Aphs sLsBundng. spamw o Sulufeods Adssrer Syssnons

Ghawiallpiugy
(A)  100°C (B) 150°C
(C)y 200°Ca (D)} 250°C &

(E) eflen Gafluctidene
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63.

64.

A rock containing the fluorescing caleite is illuminated by ultraviolet light, Then, the

eolour of the rock seems to be

(A} Violet
{(B) Blue
(C) Green

(B Red

(E) Answer not known

gefl e flogd srdes e s Qerar. gm ures upemsT geflurd geflrlssiuins.

=UGung), unepulen Bporad Carénpeusi

(A} oagn
(B) feabd
(C) usens
()  Feuoy

(E) eBo Gafluedidamea

Raman effect 18 scattering by

(A) Pure Solids
(@ Pure Liquids

(C) Pure Gases
(D) Impure Gases

(E) Answer not known

@rmwen aflenere eausums geaflsfgpd

(&)  sndewnwrer L O@umml safld Baggn geladisnd
(B) gnlewwren Srevisafii flaigo geflsfispa

(C) gnieswwren awmyssaia Sleugd geléfapd

(I gnieowupp eumyssafe Bagp gallsfpsda

(E) elen. Gpflusiidma
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65. The common table salt is

w Compound

(B) Element

(C) Mixture (M Alloy
{E) Answer not known

umgy Guens 2 Oumansy)

(A) Cafwib (B) mafion

(C) seeva (D) e Carsssaena

(E) efe Gafwelioamen

66. Which of the following statements is / are true related to COVID-19?
{a) Adding pepper to yvour soup prevents COVID-19
(b) COVID-19 is transmitted through houseflies
() 5G communication networks spread COVID-19
(d) Sun light does not protect oneself from COVID-19

(A) (a) and (b) only
(B) (c)and (d) only
(C)  (c)only

& (d) only

(E) Answer not known

Ganghil-19 Qgmifuren Spsrgmid sppesiia sfliune sapenn/spmsamar Gaiay @aiwa)ih.
(@)  pmb umEDd sgpflulla (EU) dag Camuusnd BECEmi Ggmpenn s{Hssamb

(b} & i edver rasa apeoons EEESTDE Laub

() 5G Ggrawg Hgm_ iy cuewuidr ppanre Cardil’ -19 urapbd

(d) mfugef greaueny Genafl' -194 Blmbe Lrgsnssng

(&) (&) wpgbd (b) w G

(B) () wipgd (d} wlBb

(C) (e} wi(id

(D) () wlpd

(E) e Gsfluciime
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67.

B8,

On rear wheel drive cars, with the engine in front it is a common practice to weigh
down the trunk in order to increase safety, when driving on —

MILT roads (B) Muddy roads
(C) Hill roads (D) Plane roads
(E) Answer not known

gpeuss Eupdnd Gararm. G sday Glusd smseie urgsnlilhars el sawn
epliLgl ehs Ll gl Basbans -

(A)  ueflssiig snanasdr (B) Genms snenensen

(C) wemenk srencoger (D) swga sraawsda

(E) aflen Qpflucldenc

With whom can we associate the following quotes?

— “Be Educated, Be Organized and Be Agitated”

—“1 like the religion that teaches liberty, equality and fraternitv”
— “Life should be greater rather than long"

(&~ Dr. Babasaheb Ambedkar

(B} Thanthai Perivar

(C) Karl Marx

(D} Mahatma Gandhi

(E) Answer not known i

Epsngmd sram e —E5s Cudlandaae GEr_TLUBSSmE?

~ “mevefilufla) Gump, eniplurs gengy Srer, SeibCsng”

— "mren efHDLD WEOTEE SSHEITD. Aogmand, sCansrisan sduapap CundEsn”

= “aumpsens sranug oflugrs Bimés CaanBCu galy fanoragns sdw”

(A)  Cmdur umurstil sabGugsmt

(B) shens Gudlwm

(C)  =mmivé inmideis

(D)  wsrgorsnsd

(E) sflene. Qsfwshidenso
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§9. Specific Experiments :

1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into
Red colour
2. Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour

3. Blue Litmus paper is dipped into sulfuric acid and 1t is changed into Red colour

General Law : Acid is turned into blue litmus red. It is called

Heasoning.
(A) Deductive (B) Critical
(C) Everyday @ Inductive

(E)  Answer not known

Apdy ufiGargenansa .

1. B ebios greer egn Com @Gearfls siflekdd pammsmd, Sig Haudiuns wrpb
2. feo i ineh grener sydsnaid sUlwsHd neaisrd, o feliums wrmd

3. fodllnd grea spg Sflwfid penenisnd, s fadiurs oo

Qung i @ sfowuregy fo Slund greem HAwiurs orHob. B

SpllbEBlse ara SengasLED,
(A)  usgsd (B) menpergmb
(€)  HeapGargid (D) CprEgsd

(E) eflen Gefluaidas

70. Among the following whom can be considered as “an intellectual who anticipated
Dr. B.R. Ambedkar by two generations™?

M Ivodhee Thass Pandidhar (B} Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar (D} Jyothi Rao Phule
(E) Answer not known

Spsramuauisefid wmi "Lrd it B.R. sawGusey Bran(d seaopapsenes oparu
ar@iCnradu sifeEn wallst” aad smsuuBpmm?

(A)  Cuwrkd grey Lieig 5 (B) gnggrgmb Guase gmd

(C)  rreveur sidly elGwmenan (D (}gﬂﬂﬂﬂ"u yGe

(E) eflens Gafwetidena
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T1.

T2

73.

Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 19657
(A) Kamaraj (B) Rajaji

(@ Bhaktavatsalam (D) Sathivamootthy

(E) Answer not known

1965 o @i endimon Gumpr b mess Gumg suipem g wrt apssrandana B)mhenT?
(A)  smogmg (B) gmggrg

(C) uvsgaidsan (I Eﬁﬁlm&pnpﬂ:

(E) e Ssfluelamar

Thanthai Periyar passed resolutions for the welfare of the women in the
Suyamariyathai conference of
{A) Madras (B) Coimbatore

(C) Salem T hanglepet
(E) Answer not known

speng Wufium swwflures wipmigd duerssfla pogyssrs Sl msd Fuppliule
b

(A) Qulgre (B) Camubugsst

(C) Geeib (D) Geisdul ({

(£) dllen Geflweiiame

Thanthai Periyar referred as the philosophy of Self Respect Movement to

(A) not having belief in next birth

(B} mnot having belief in God

(C) there was nothing bevond sexual pleasures

{il;i}" deing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the basis
of reasoning and also having the mindset to accept the implication of such
actions

(E) Answer not known

seng Eufwmgrd swonflurens Budsisd sgenh erand mpiod L g wng?

(A) om SolSdh podsas EBdoamod Eimlug

(B) @Eenpeassn g pbdens Gdaomod Bimliog

(C) Spfeugfie Coanangy gennl Edeaa aeap &S5

(D)  uessdeien swliumLdid sensy sfCwan mbuywas Gsieg, ey
Qoisgldn  gapsd BEodd,  Leksdts SosPilsriag, Sogb
SteLehlenaaysend o DI&EGSTATIEHD e LILIThiE;

(E) dfloc CefludBdaa
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74.  Who presided over the first Madras State, Self-Respect conference?
M Soundara Pandivan (B) Dr. Subbaravan
(C) M.R. Jeyakar (D) EV.K. Sambath

(E) Answer not known

npseraws Wednmen wrflo, swiofiuras wrsm’ e § gencennGwnm s Sl wmir?
(A)  Ceanbfly Lnmamg e (B) Lmsiir scimymoedn

(C)  enb.sgyt Qewbsh (D) el Cs sibug

(E) e<feni Qaflwalldiens

75. Mateh the ollowing :

(ay Swarajva 1. T.M. Nair

{b) dJustice 2 T. Prakasam

{e) Dravidan 3. ThiruViKa

(d) Navasakthi 4.  Bakthavachalam
{a) (L) {e) (d)

(A 1 2 3 4

(B 3 4 1 s
2 1 ‘| 3

(D) 4 3 2 1

(E) Answer not known

Eiheeter_anhenm Qummdse :

(a) swigmigm 1. wg.eib, mmii

(b) pevige 2. i L srED

(c) SHonell g 3. fnds

(d)  pevedd 4, ubgabsab
(@) (b) (e} (d)

(A 1 2 3 4

(By 3 4 1 &

(C) 2 1 4 3

(D) 4 3 2 1

(E) eBen Qefuwsflsiena
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76. In 1916 ‘South Indian People’'s Association’ was renamed as
(A) Home Rule Movement
(B) Madras Association
-@/ Justice Party
(D} Dravida Kazhagam

(E) Answer not known

1916 ib axen(® Gperafiifie) s spsn ercisungy Slearent Syapasuu L g7
(A)  peranmi Al Guba

(B) Qesnamen sdisib

© fhsscs

(D) Syrebl sysn

(E) e Qaflweildma

77. Which political Association became known as Justice Party?
(A) Home Rule League
(B) Home Rule Movement
W* South Indian Liberation Front
() South Indian People's Association

(E)  Answer not known

b <sipdlwd g FHsC Auwirs wrflug?

(&) Capmb me s

(B) Capmb me apeiGineir.

(C)  eeys Eamswes olGeen Spemm

(D) say §emwen GG sCardlCusd
(B) ofen. Cpfuichidienss
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78. Who first introduced Cartoons picture in Tamil Magazine?
{A) Ramnath Goenka
{(B) T.V. Ramasubbaiver
" C.Subrahmanya Bharathi
(D} G, Subramanya Iyer
() Answer not known

apgen (pgelld SEGESILLLRiser U8 Blsbeafls suflapasiubssiuet wrt?
(A)  pmbsns Camurism

(B) T.V.gmoslenuwm

(C) C. sinllgneniu Lirgs

(D) G, s poemw g

(B) aflen Qaflwaiisianc

79, Which of the following idea does not fall within Thanthai Periyar's definition of
Civilization?
(A)  Accepting every religion
(B)  Trying for others also to get whatever good one has got
(C)  The total progress of all human beings
W" Progress based on the scientific inventions of today and making life pleasant
{(E}  Answer not known

praflas i sheas ufiurfia wanuepége UL SGHTGED Lng?

(A} eanis nslhsaanb ghmysdsrimasgd
(B  gren Ganan pemamwsd wHpaisEdEh LumLBDh waosdare pubfsma
Gioflsndras

(€)  =eends wellgisenssuonat apsrGanbmin
(D) Geepuy sfldoe sa@lsiuseflamd gpubs patapoaps Gaflaoura
BUITLpE R EILILD

() eBan. QsMecfdene
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80.  Who started the journal namely ‘Dravida Pandithan'?

81,

(A) D.John Rathinam
THE QUESTION AND ANSWER ARE TO BE

(B)Y A.P. Periyasamy . PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION,

{(C)y Pandithar Munusamy
(D) Irattai malai Srinivasan

(£} Answer not known

SgreflL Lame g eang LA fsmsmu nbdlgsant wmm?
(A) . e pBemi

(B) .9 Quflwsms

(C)  uergsh wpguemd

D) Jrlen wener Saficunssn
(E) dilen. Qsflweiidene

BaCadall wgd ala @pg) gy allgars
adgipl g ela pa @wisiu s daayy.

Name the women leader who participated in the Neil statue satvagraha in
Tamilnadu mm 1927 -

(A) K.P. Sundarambal
(Bl Padmasani Ammal
(&) Muthulakshmi Redd:
(D)  Selvi Durgabai

(E)  Answer not known
sillpsgda 1927 b gand. fe o pa fow ssfudys Cumprl gfe sahy Dardm_
Clusssrioa (Fwndl) -

(A) Gs.8. sggombumdr

(B) udwnsrall sybwmdr
(C)  pasels0 Gyl

(D) Cadeh giksmami

(E) silen Qsflwaiidama
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82.  Which one of the following statements is/are correct regarding Chenbagaraman pillai?
1. He hailed from Kanyakumari dist. of Travengore State.
2. He started Bharatha Matha Valibar Sangam
3. He married Laxmibai of Indian National Army in 1931,
4, He joined the German Army and fight against the English in I'world war.

(A) 1,23 are correct 4 incorrect

(B) 1,2 are correct 3,4 are incorrect
(C) 1,3.4 are correct 2 18 Incorrect
M 1,2,3,4 are correct

(E) Answer not known

Sipaumib sappsafics Qearusymost Gdeoer upfiu sfwme spm/ s pysdr e ?

1 Beui Hmeuntssa’ sipfld saaflumEod wran’ L Seng srifiseair.

2. Eeuit Lnys wsn eurelluif sTuED srengih ieniolient CarDmeSigsnt.

3. Gei @i Csfu mapages srips elsblurmy 1931 & Smoenn bl

(el mmam_mT,

4, Beuir Goiorafiu ve lia Gaita s eeslGunfié oidiaumss afms
GLamymg @,

(A) 12,3, 4 saupreng

(B) 1,2 sfwrang 3.4 gaummeng

(C) 1,34 sflwrengy 2 w (G seupresg)

D 1,234 sfw ey

(E) e Quflicfiaana

83. Which Woman freedom fighter participated in the Madras salt satyagraha?
{(4) K.P.Sundarambal (B) Muthulaxmi Reddi
(™ Selvi Durgabai {D} Padmashimi Ammal
(E) Answer not known

erbs eSPgenans: GuryrlL Guampesf Gl grey ooy ssundlysgso seohg Gemamnni?

(4) Gs.9 spgombunsr (B) apemel sl Qplig
(C) Qe girdsmimi (D) ugwr#af sbuimer
(B) efen_ QpMuclidma
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Which one of the factors responsible for the South Indian Rebellion

(1) Company Reforms in the palayam
{11) Economic exploitation and heavy taxation of the company
(iii) Famine in 1798

{iv) Frequent wars of the company

(A) (1) only (B) (i1) only

(C) (i) only e, (i), (iii}, (iv)
(E) Answer not known

Epaam_ snrafisalli deaafipdy Aaisdlée sryamors seondss o’
1) Lrememukaafid sn@ualllla Fifimssnad

{11) sb@uefl Qurgpamgny sy@m_ s whph b s uren eufl ey
(1) 1798 & ghulL gD

(iv) sbQuefl pLgfiui mis Esnwimen GLmias

(A) () B (B) (1) w @

(C)  (id) wiub (D) (), Gi), (i), (iv)
(E) <l Gaflwichidena

" . ; these three for ave to rulers of the land belong”.
In the above Thirukural the word “These three” means

{AY Education, wealth, bravery

(B) Virtue, wealth, bliss

{G}f‘" Sleepless promtitude, knowledge, decision making

(D}  Love, Decency, Affection

(E) Answer not known

@Ebapempyb

Rrssn Eleavanmen Leuhs.

Ciopangmih Smsenetc @ bQumb Bbapamn’ erarggn Derd gdlouema
(A} sebeld, Qadiauih, efipid

(B) o, GQummer, @b

(C)  srrusmenn, sdefl, gemfley

(D) ey, weiny, Linah

(E}) sfleo Qpflustaama
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B6. Whom does Valluvar e¢all a fool, though he is learned and scholarly?
{A) One who fears to talk in the assembly of the learned
{W’ One who does not get along with the society
(C)  One who fears to go to the battlefield
()  One who fears the rich
(E} Answer not known

wesnm dlebleomngnt eren eudngseut LnepF s BElpTT?
(A) soGort sencudld Gus agrsdlerpeueny

(B) e asflsn(d ais possrsaag

(C) GunissersBies Qi sigssdapamy

(D) Qedbapsars s siesedldmpeeny

(E) o Gsflweiideama

Y These four a light of dreaded kings reveal” What are the four virtues
of a King according to Thiruvalluvar?

(A) Creation, Production, Protection, Planning

{B) Morality, Wealth, Happiness, Eternal dwelling place

{Qﬂ" Beneficience, Benevolence, Rectitude and eare for his people
(D}  All the above

{E} Answer not known

segpdlpni?
(A)  Bubpd, wiib, sndsd, snisasis

(B) mpw, Qummen, B, i

(C) Qarene. smenan. B8, ganihs @mysemens srsd
(D) Cupssmn. senesgsib

(E)  efeni Gpfluchideme

bremgEn e oem winarmb Geupsids poil”, erar cudngneut eraupens Geufhs e
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88,

What does the following Thirukkural reiterate? “Who with deceitful mind in false
way walks of covert sin, The five-fold elements his frame compose, deride within”

("Vanja manathan Paditrolukkam Boothangal
Aainthum agathe nagum”)

{(A) False respect (BY False truth

(@ False behaviour (D) False pretence
(E)  Answer not known

EUELS DERSSTER Lig DEDNOpEsD LisRisE
EHEID HE5GE pEw - BEo mlupssiiubug ag?
(A)  Cumel nfnens (B) Gunall & ssrenin

(C) Gunell gopssn (D) Guimell migriy
(E)  efflen Qgfluwefidme

What are the facts related to Hand Samtizers?

(a)  most of them are acid based and not aleohol based.

(b)  they are flammable.

{c) they are effective against spores.

(d) it is correct to nicely wipe off hand sanitizer from the hands before it has dried.

(A)  (a) and () only k1) only
(C)  (d) only (D} (e} only
(E) Answer not known

s sgfladiure (Hand Sanitizer) Qgm_fures o_amawnsaens Caiay Gslniegh -

(a) Gumburereeme sifler SupluL FNhEma. SLOSADTE i oL ST Gy
BB,

(B)  sieneu menmns erflibsag wena,

() e fgadiangaienie aflyren Qewgnssb Csmam_ e,

() meseflo oden ‘wsssdsfiiumneg eamb ety sgom paprs assadmis
HenL g sflwmenGlignm Eewic o mn.

(A)  (a) widpnbd (c) w.Gb (B) (b) i ®m
(C}  (d) w' @i (D) (&) wl i
(E) cfen Uafiuaidaa
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90. How does Thiruvalluvar guide us to overcome trouble?
(A)  Accepting trouble
(B) Fighting trouble
{Vﬂiﬁng trouble to the trouble
(D)  Feeling Remorse for the trouble
(E}  Answer not known

slenugeng sraueumy Ceuden Gelem(Bb erdny Smeudngmant GpdlouBsgadlprr?
(A)  eilug Cuw ghpstlsmeimpnsd

(B) edrggd Cumnisd

(€)  peusfibe genaib denbiss

(1)  meeusdan Gung ambsse

(E) dlec Qsflusildaa

gL, " Irandum Thangaa Viyanulagam
Vaanam Vazhangadhu enin”
(Though the wide world lease and If heaven 1ts watery

treasures cases to dispense)

What are the two good deeds that will not happen according to this kural?
(A) Charity, Love (Dharmam, Anbu)

H&b‘"’ Gifts, Austerities (Dhaanam, Thavam)

(C) Penitence, Pleasure (Thavam, Inbam)

(D) Virtue, Money (Aram, Porul)

(E) Answer not known

[

BEremBib ks slluguensd

RUTEELD GUIPTRIETE) T ailen’

Gupsraph fmé@nar eresiimansd ben. Hunrgy ey s ndng ?
(4)  sioub, sy

(B) mranb, gaulb

(C)  @aubd. @emub

(D)  spd. Qungper

(E) cileor Qpfluelidme
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92,

83,

What are the symptoms of COVID-187

{a)
(b)
{e)
{d)

(A)
(€)
(E)

Fever, dry cough, fatigue
Loss of taste

Sore throat
Breathing difficulties

(a) only (B) (b)only

() only Q}.ﬁfﬂ}. (b), (c) and (d)
Answer not known

Sipangmb sfiEdleaiida Canell -19 Wem_furarsne sranau?

(a)
(b)
()
(d)

(A)
(C)
(E)

smiFso, sup (B B, Gamrey
sava Sifluyh Spes Bdwmod Cuireug

dgramen cuel

apdas ebl(peaudler Hywwn

{a) wl Ehb (B) (b)wi@on

(d) w & (D) (a), (b), (c) whmbd (d)
eflen Gaflucllidena

Pick out the effect that is not related to the impacts of Earthquake,

(A)
(B)
(<)

Fissures
Collapse

Tsunamis

(R)#* Depression zone formation

(E)

Answer not known

wabu urdliusGam® Gam fupp dlanarena Gaiflay Gelis.

(A)
(B)
(C)
(D)
(E)

L5 T

SO L D

& il asai

STpE| e anb o el g
eflen Gaflwsildana
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94, Whom does Valluvar refer to as blocks in the kural
“Arampolun koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)

(A) Those who speak useless words
:Ml‘hﬁp.ﬂ who are void of humane courtesy
(C)y Those who do not have love in their hearts
(I}  Those who covet others things

(E)  Answer not known

"y bGLImgD saiawnws Greggh wrbEumdean”

Wb Gurenmeitsen ereny asamieneupmed @il LT wird?
(A)  uwellé Qemd Cusueasi

(B)  indad wer ) Bdengeal

(C) ssgfa sy Baonsea

(D) Slpile Suimpmands, Spenaci Bt

(E) eHan Gafochldana

45. According to Thiruvalluvar ‘what is friendship with the good’ compared to?
{(A) Having friends who make our heart happy
(B Having books that give perpetual delight
(C) Having a face that shows anger
(D) Having a staff that measures one's friends
(E)  Answer not known

vl Elsamun L e wimant Ggmo iy erengi) Guranme aar Sinasdnanant sapslnmr?
(A) =sns plug Cundips

(B)  peflsGanmn mnd pud Curdnmg

(C) sRsss sni@ib opsn Guramg

(D) Aeergseny Sl siarauGent Gard Cunenpg

(E) oflan Qsfluicldenc
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The saying “Thirukkural” has a balanced religious quality is because

People from all religions say that it belongs to them

B

Because people who say there is God and people who say there is no God
accept 1t whole heartedly

3. It iz bevond Type, caste, religion, clazss
Because it writes about ethics and knowledge needed for human race,
{A) Omly1isright (B) Only 2 is right
{{?'} Only 3 and 4 are right (Q)eAll the above are right
(E) Answer not known

‘sww BRGleeu Lany Ganem g Smisndr erdnint F)smmfHipss srysms

1. ETERITE S Seumin @ enb Ead eremy samib SAnliyl ubpsrd

2. sLapn el aduat o Glldd Gdame aduaimh o ek goEh Aol
Cluppgne

3. Bomd, andl, sowb, augny aeaneufbl i iumhuc L g

4. wailsPepBher Qg Gubsb, Hfab sfeipdscuPas

(A) 1ol (B) 2wl (B &l

(C) 3 wamn 4 w_GHio ol (I Semengsn &

(E) ahlen GsflueBdme

Who is the author of the novel ‘Manalveedu™

(@ Anuthama (B} Bama

(C}y Ambai (D) Indumatha
(E) Answer not known

‘el 6O(B) erenm mrcushlen oy Aol Wi ?

L"‘!-:' &I@j'ﬁ-jﬁlﬂﬁ (B) wmon
(C) subanu (D) Eesiod
(E) eflene Qaflweiicoancy
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a8,  Which of the following book received Sahitya Academic Award written by Melanmai
Ponnusamy?

V Minsarapoo

(B) Kalmaram

(C)  Ahavathukku adutha veedu
(D)  Appavin Sinekidhar

(£}  Answer not known

Cuanarano SurdrgpsmBuSer srddy marQsdl udls Qupp ven Ly ag?
(A)  Slemsmyiigy

(B) sdwnb

© aanubpse S04 &6

(D) sdureiidr ACzdst

() eblen Ggfuwsalldoenso

99, Who wrote the poem that has this as the opening lines
— Anbu Sivam irandenbar arivilar?
(A) Pathirakirivar
(B) Pattinathar
(C) Bharathivar
(R)e#* Thirumoolar

(E) Answer not known

' sen Rendiya G seu phlele m’r‘_

— gren; (g rhigih LML el Lifiguiault wni?

(&)  wsfsdifwmt (B) uluwenggm
(C)  umgglum (D) Smeped
(E) eBen_ Ggfweldima
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100, Which of the following epic describes the significance of Thamizhar's musie?

{l’/ Silappathigaram

101.

(B}
(C)
()
(E}

siflipiaatien Gleaed AplnSman aBEZIHED sSmubluib ag?

(A)
(B)
(C)
(D)
(E)

Manimegalai
Neelakesi
Kundalakesi

Anzwer not known

Helsgsmmib
L] G D& e
BaCad)
etor_euGad

slap QsMuwsbldens

Who among the four Navanmar made his heart the temple for Lord Siva?

(A) Kannappar

{V Poosalar

(C)y Vaayilar

(D) Sambandar

(E) Answer not known

inangEmd Falgeses Ganulia sl HmuU@inmm wiri?

(A
(B)
(C)
()
(E)

Eemrat Lt
WELT]
gurus e
ELhm'rjg.r'T

shlen Glgfliusiidaa

a3
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102. What are the characteristics of a classical language?
{a) It has an independent literary tradition
(b) It has a large ancient body of oral literature only
(c) It has a large and ancient body of written literature

(A) (a) and (b) only (B) (b) only
(C)  (¢)only AP Ta) and (c) only

(E} Answer not known

g GlabbiomfuEea uem s & pargmb crans creuhang @hllaE_smn?

(a) sssdowore)sallss seriigh Besdw wry

(b} Qumbd vewew whpd arnGGonf@orse @eédu ombofuges wd GGw
el et gl

(€)  Ghagmb walrenw whHmb erapstiu L Fasdlu urmbufiugens Cerem_ g

(A) * (a) wHmb (b} wi Gub (B) (b) wi (b
(C) (e} b (D) (a) wpmib (&) L HD
(E) el Glafwstidena

103. Which characteristic is expressed in the Perumpaanatru Padai' Verse?
("Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin Thanin rooti")

Az the Mother willingly watches over they Child, Himself stood in the opposite
direction and saw

(4)  Charity (Kodai)

(B) Valor (Veeram)

(C) Motherhood (Thaimai)

{M Hospitality (Virundhomputhal)

(E) Answer not known

“wspenn waapans Grréd opsenoihs) Jpenr el sraflern pig"
= @S mb U mCsen. wre gl sriuer GesefiiuBAng?

(A) Qamani
(B) efipw
()  smienn

(D) emeCgmbygsa
(E) ellen Gafwsiideana
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104, According to the evaluation report of Niti Ayog related to Minimum Support Price
(MSP), which of the following statement (s) is/are correct?

(a) MSP is declared before the sowing season.

(b)  The idea behind MSP is to give guaranteed prices to the farmers and save

them from price fluctuations.

{e)  With globalization resulting in free trade in agricultural commaodities, it is not
important to protect the farmers from the unwarranted fluctuations in prices.

(A) (=), (c) only
(&) (@), (b) only

(C)  (b) only

(D) () only

(E}  Answer not known

Fé g lurdfen geopEsuls arey daa (MSP) Qer_furen nfOSH sifsmeuticn L

&pangps sihs s ol sdmse sflwmeag ) Funeme e ? ;

(@) “wepgsuls gere) o’ dimgius srasdbe partu siflafis’uGn

(b) C“meppsals swpre dlea’fa Cerést  Aasmlsends des sdstangin
g .

(¢} eessworssdanrd ghul Géer sy golwupp afisabfia eleaereans aleasm
Hurmarsaisn cilmauis goufd Geeawudn gir Epssisatie Eods
efleuemilaamar amiug opEslwnnd

(A)  (a), (¢) (b

(B} (a), (b) wi Bk

©  (b)oc G

(D) (o) weBis

(E) sl Gsflueidaa
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105. According to Nobel Laureate Abhijit Banerjee (Economist), what is the only solution
to overcome the economic pain in the short run in the wake of Covid-induced
economic crisis?

(A) Putting more money in the hands of big corporates
(B} Giving more tax cuts for big corporates .

€y Putting more money in the hands of poor

(D) Giving more tax cuts to the poor

(E) Answer not known

Grrud ufls Gupp Qurmemsry =iflest 985 Cvaidlldan maplue, Garelll
Quedlgrppra Qummengny Qpméss THolfamy. @i CpEssgLTd ghHuCGerr
Qungermgy ey spdu st Suglue ld sLlugdere Bieurs Sl fmpaigl Lrg?
(A)  Qump Ppaeisefia mssafle sfls L Qsran@ Caflug

(B)  Qugs Bmaeriisenss il @eapliuy Selug

(C) gy ereflu wiseflan assafld mfls vamb Garan( Caflug

D)  geny ereflu wésigsbe afigmpiy daday

(B} eaflen Gafwehldana

106. Regarding the Indian economy, which of the following reflect, unprecedented
suspension of cconomic activity in the first quarter of this fiscal (April-June) due to
. the Covid pandemic
(a) Contraction of around 50.3% in the construction sector
(b) Contraction of around 39.3% in the manufacturing sector
(¢)  Contraction of around 10% in the agri, forestry and fishing sector
(d)  Contraction of around 5% in the Trade, hotels, transport sector

8 (a) and (b) only (B} (a)and (c) only
(C) (b} and (c) only (D) (b) and (d) only
(E)  Answer not known

Bifu Gurmemsnydes Qunnss awr, Carddl umpGstpond Gis HHwndmgdn (pge
snd Ll (gure - gPear) Cummemany L smasafla opany auGuTgh Eaans
Gmib apLdssd ghUC LS.

Spangmib mppsafs aoa Fiks o enennay Srfudaddapen?

(a) s ([Fusrants Laflsefic swrt 50.3% s(més0

(b) e pusd gendis swr 38.3% s@main

(¢) Cevamsmenw, auenaiiue ohmb Beruer o HugHuiia swmr 10% smméan

(d) afggan, gigd dHS eamasb wppb Curkgaurig geopaefld surt 5% smésn

(A)  (a) whpud (b) w Gub (B) (a) wpmb (c) wi b
(C) (b) wpgd () wi b (D) (b) wipd (d) i G
(E) eflen Qsflueahdena
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107. Which one of the statement is incorrect regarding the mesolithic period.
1. It is the Stone age between Palaeolithic period and mesolithic period.
2. They used tools of made up of Keny Small Stones
3. The Theri Kadugal of Thirunelveli region belonged to this period
4. This people burned their Dead bodies,

THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE

(A) 1only FOR FINAL DECISION.
(B) 2only
(C) 3only
(D)  4only

(E} Answer not known

Epsar_masefla el d spanad updiu sppeaiia sapreng ag?

L Fasrab uepu spaneigsEn U sperassisED Bl LU STab

2. Gibwssd Bad Aflu shemrate smallsma vwauBiBand

3. frRratad wral gl sraniupn Caflé anpad Gos sparasas sTTEETS
smEatuBsng,

4. Essra nkser @nhsaitsenet efimhger.

BéCadall wpms el Spg) gy allpars

(A) 1wl wagimt gopella o @adsiuL o dagy.
(B) 2wl @ib
(C) 3wl
(D) 4olGo

(E) ehlen Ggfwshidene
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108. Mateh the following

()
(k)
)
(d)

Backwaters 1. Linking up of river system for irrigation
Canals 2,  Used for erossing broad river
Dag out Canoe 4. Connecting one water way with other

Dams 4. Used for some limited navigation

(a) (b} {e) (d)

(A 4 3 et

(B) 3 2 ! 4

(C) 4 2 3 1

(D 3 4 9 |

(E) Answer not known

Doimmbsis -

(a) &gl 1. sgheep unsangSDers LwuesufBEs

(h) asrdeumi 2. Guflu sihenp 8L ks

(e} rq_!;.'é].mrl&i:l-a.rrruh 3. EHm ﬁf? mJHSImu_l m@g{:ﬁ,ﬂﬂ @mmﬁ

(d) siene 4. Enduseredbe e B Curspanis
{a) (h) (e} (d)

A 4 3 2 1

(B) 3 2 1 4

(C) 4 2 3 1

(D 3 4 2 1

(E) elienL Casflwichidenea
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108. Choose the correct statement related to recent Bank mergers in India.

110

{a)

Large Banks will be able to borrow more from the market and thereby help
the economy revive,

(b)  Bank merger will lead to increased operational efficiency of the banking sector

(A)  (a) only (#y~Th) anly

() {a)and(b) (D)) neither (a) nor (b)

(E) Answer not known

Adwreflss sfu sredesfld pacQugn wid Beeriy Ggnuiume  asppsata

siflwmensng Ggiey Glaliayb,

(a) Quilu andsa stosdldmin sfsors s_a wmgo o Geresr_mains
Elimigib evenugmed, Qummermsnyib B dLBéstufib.

by ekl Gaemy, whds gondla euddpena o Lngg.

(A (a) w @b (B) (b) el

(C)  {(a) wdpud (b) (D) (a) @aea (b) Fdaame

(E) el Gaflweaidamea

Who stated "Man is born free, self Respect is his birthright, Social Justice ensures

social equality”.

W Thanthai Periyar
(B) B G Tilak

(C)y Kamaraj

()  Omanthurar

(E) Answer not known

“wallgan agpdpors Gpsdomd, su oflunens el Gpofe, spshd saps
sinEsauses o nEufssin” erarg sahluaim wrt?

(A)
()
(C)
(D)
(E)

s (el i
urassissrgy Seosi
&TLOMED

gropgrTT

afenl_ ClgMweicome
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111. Regarding the word ‘Fraternity’ in the preamble of the Indian Constitution, choose

the correct statement(z)
{a) It leaves no room for regionalism
{b) It leaves room for communalhism

(c) It leaves no room for casteism

@ (a) and (0)

(B) (b)only
(C) (a)and (b)
(I {c) only

(E}) Answer not known

Blhsy erdueesonan aparganrdie LwaufBssuuGn Flarsrgmend’ e Sene
Elgm_iuren Eparggb s ppaeiia sfluraapan Caray Ssliuaib

(a) =y dgmedlueirssdlig Bo oatlasng

b)) =g agiouanssSne Guoelsgn

) sig smPuanggdpg G waissng.

(&) (a) wimpi (©)
B b wifo
©)  (a) wiph ()
D) () wifo

(E) aflen Gaflweiivemna
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112.

113.

Arrange the Chronological order

1. Champaran Satya Graha

2z Kheda Satva Graha

3 Ahamadabad Struggle

4, Baisaki day

(AW”1-2-3-4 B 2-1-3-4
Cy 4-3-2-1 (D) 3~2-1-4
(E) Answer not known

& paam_aupeanm sreefiasiu g s.

1. smbupren eghum £rmn

2 GaLm sgfwr Slgsd

3 s L0EmLImd GUmpmiLib

4. gl mraT

Ay 1-2-3-4 (B) 2-1-3-4
<} 4-3-2-1 ) 3-2-1-4

(E)  eflen. @sflweiidans

Name the biographical work of Abdul Kalam Azad which was written during his
internment in 1916,

i Tazkira

{(By Kadith

(C) Hayy Ibn Yagdhan
(D) Kitab al-Miraj

{E) Answer not known
1916 b e Aopursgdla Curg ausiulL SUgE samb sersden cautpias
aflenslan Guiwi erdnen’?
(A)  pealym

(B) asnfs

(C)  @o @udn wagnen

(D) Bgi - digrg

(B) el Geflueiibene
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114. Who produced the greatest work Tarjuman-Qur'an [a translation of Qur'an from

Arabic to Urdu]?
{A) Dr. Zakir Hussain (B} Fakhruddin Ali Ahmad
{M‘h![nuianﬂ Abul Kalam Azad (D)) Mohammad Al Jinnah

(E) Answer not known

s @i [Eiagefldar il Comficdimis e oy Cuomfss Geuwudule
Llom@Cluwiniyy] eeanp issF Apss ue oSenar e maimssuseuT wirm?

(A) Dr. grkio esds (B) Jobmbban sl siginung

(C) Goemamam i samb B HTH () apambung el silenanmin

() alenc Gafwdisiena

115. Which of the following statement is incorrect regarding Moulana Abul Kalam Azad?
1. He was born in Caleutta
2. He was the editor of the Magazine called 'Lisan ul Sidig"
3. He published a journal namely ‘Al hilal’
4. He was elected the president of the Indian national congress in 1923 and 1940,
(A) 2.3 arecorrect 1, 4 are incorrect
(B} 1.2, 3 are correct 4 only incorrect
(C) 1,62 3,4narecorrect
M 2, 3, 4 are correct 1 1s incorrect
(E} Answer not known

SpsemL sapmsetics Suerane syasamD SpErs whfiu Seupren sDny ergE?
k. Glisemranrent L dmaimb aysrd sdasanelicn Glnhamt,

Beui ‘dilemin o b Heda" eranp LSRN sems@en LBOLrRRlwT e
Ereu webdlens eranm g senyp Iﬂmaﬂu;'la'_urﬁ

@eut Gefu Caflu smedlpevsam 1923 wpgn 1940 gub genBecfid saowumms
CanmCeBas L,
(A) 2, 3 mpgadr sflwimemaney 1, 4 gaymmenaneu

- e Fol

(B) 1, 2, 3 spmadr sflwuraneea 4 e S Seunrang
(C) 1, 2, 3, 4 smaoimser sflwmaneneu

(L) 2, 3, 4 mpgpsd sfluneananal leum aamm ssumnang)
(E) eflen Qaflushiama
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116.

117.

Which of the following day was named to celebrate the release of Bipin Chandra Pal
by Swadesht Leader of Tamil Nadu.

{A) Dav of Deliverance {B) Day of Mourning

'{W' Swarajya Day (D) Direct Action Day

() Answer not known

Spsaw. ks mrams GoSen spsrund effgee Gelwtul L prenar suflps sCsf
gencoeuiser oL BB aniv?

(&)  elBsama mmer (B} & flanb

(C) &bsdl femnb (D) Copu BLsuigdens mrar
(E) eilen Qgfliuicfldena

Which one of the statement is correct regarding Bharathiar?

L Bharathiar participated in the Indian National Conferance at Kasi in 1905,
2. In 1906 he started Balabharata S8abha at Chennai.

3. He participated ‘Surat Congress’ in 1907 along with VOC.

4., He composed the Poem ‘Vangame Valiyave',

(A) 1, 2 are correct 3, 4 are incorrect

V 1, 2, 3, 4 statement are correct

(C) 1,2, 3 are correct 4 i3 incorrect

(M 1, 2 3, 4 are incorrect statement

(E)  Answer not known

umg@wineny Lhll s sbnsatid sflwmang ag?

= urgBumi 1905—a sndludid pen Clupn @S Caflu smssrmidl anbsgy Gsmaim .

2 et 1906— Lnes Ly Fur @D seenleu Hednaemibles gbuBdEienm.

3. st 1907 250b seami (3 (w6 smbflpe sl L ffld a.o. 8l sakg) Candmm,
4, e 'wistoamnfiuGa e un.eme Flupdlusten.

(A) 1, 2agped sflurarme 3, 4 spmsat Saupratanal

(B) 1,2, 3, 4 smppsdr sfluranama

(Cy L, 2, 3 sfiympser sflwnaraney 4 ugi sadi Seunmang

(D) 1, 2, 3, 4 mpmser paugpnang

(E) eflens Resfluwshldens
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118, The Editor of Tamil daily Kudiarasu.
M Thanthai Periyar (B) C. Rajaji
(Cy Satyamurti (D) C.N. Annadurai
(E) Answer not known

Aenafl mrefigoman @igwgslen g

(A) gies Quflwmt (B) & gnggrgdl

(C)  sadunpiss : (D) #.aén, samamgey
(E) dlec @sflusBoma

119. Name the person who threw a bomb along with Bhagat Singh on the Central

assembly in Delhi?
(A}  Sukh Dev {(B) Rajguru
(C) SohanSingh (P Batukeshwar Dutt

(E) Answer not known

Qe delifld eden wiBu s weansda Sg Lsifiuseda Seanhsy Halggand adu
aiflen Qo erenen?

(A) &alss (B) Srmges

(C) Cargmer Sk (D) ulPCsapan 55

(E) el Gaflueidmea

120. Rabindranath Tagore renounced his knighthood in protest against.
{A) Home Rule League (B} Khilafat Movement
{’GU"Jallian Wala Bagh Maszacre (D) August Declaration
(E)  Answer not known

relipSumrd sremi aspe oSy Gefelin gag ulLjog SobsT

(A) Gepmb me &6 (B) Swmug @usso

() el auramuns uB@srme (D) ssmanl sfidana
(E) eflaoc GsfleBiimmay
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121. Which one of the statement is correct regarding the Subhas Chandra Bose?

1.

2.

(A)

Bosge joined the freedom struggle under the leadership of C.R. Das

1921, he organiged demonstration in Calcutta to protest against the wisit of
Prince of Wales

He boveotted the Simon Commission in 1827

He sorted on the Secretary and President of Bengal Congress

1, 2 are correct 3, 4 are incorrect

(B 1,2, 8, 4 are correct

(C)
(D)
(E)

1, 2, 3 are correct 4 only incorrect
1, 3 are correct 2, 4 are incorrect

Answer not known

Bipsain,. sppsafic sunds spdy Gureey LpHl stlwrer som ah?

(A)
(B)
(C)
()
(E)

surdy sify Guren, Al grv geamods @ifu disew Gu mymC L gle
Bearpsmi

1921 Gmd:.s:‘u Glsraupsi sosssrass aumas Uiiss Gurg erdiidm appssll i
19276 ensinen sullagaman @eut LnssarflgsmT

curivmmar aniudpelis Geunanynaab, Senea TTERLD LSS eudlhgm

1, 2 &0l 3, 4 gaupreng
1, 2, 3, 4 sflwnes mpm
1, 2, 3 sflwinen s 4 geuprear mbg
1, 3 sflwren sapm 2, 4 Feupres SaDm
ehlemi Gig,ﬁl (i
&5 GR1P/21
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122. Regarding the Poona Sarvajanik Sabha consider the statements,
Mahadev Govind Ranade was the brain of the organisation
2. The Sabha awakened the people of their political rights.
3. It protested against the vernacular press Act of 1878,
4. It published ‘Amrita Bazar Patrika'.
Which of the statements given above ig/are correct?
(A) 1and2only
(B) 2and3only

{G}i" 1,2and 3
(D) 1and3only

(E) Answer not known

et sfeumpeis saul updl smada Gards,

1. warGme Garellhs prawGe @eefussifan ppaanunas Glewd L

3. Gesau vésaflan siflue o Revsmen v e @0 erien giufidus
3. 1878 spam(® LsBflsenss o | deans Biges

4. Peadluasin’subfls gt ugfsn’ adagib uiSfimemu Gaafi@l g

CuGa miOECL arsdugdd sfummae aena?

(A) 1 whgub 2w G
(B) 2 wmmib 8 wi.@Hib
(C) 1,2wppb3

(D) 1 wfmb 3 wcGd

(E) eflen Qaflwehicoena

GR1P/21 66

Lotest Sarkor Jobs, Gowvt Fxom Rosults,

Vacancies and updotes on ona click




123. Which one of the statement is incorrect regarding Gokhale?

1.
2.

(A)

He started “Servants of Indian Society” in 1905

He went in to South Africa and helped Gandhi in his movement against
Colour bar

Gandhi accepted Gokhale as ‘Political gura’

Gandhi described Gokhale as diamond of India, the Jewel of Maharastra and
Prince of Workers

1, 2, 3, 4 are correct

(@ 1, 2, 3 are correct only 4 is incorrect

(C)
(1)
(E)

1, 3, 4 are correct only 2 is incorrect
1, 2 are correct 3, 4 are incorrect

Answer not known

Eipsaim_ o posefld) GanaGeramu upil Sauprer sndpy 6157

1.

2.

(A)
(B)
(C)
()
(E)

GaraGo “@idu uefluren spsn” adan seolay 190568 gpuBssennt

Beait G g9fssreipe Geam SpGadou afifsy smduyla Feenphs
LiemShismmeitemmT,

sid GansGaaw sang ‘srduc gmars’ ghps Ceman_mr

smhdl GsrsGaemu HiSurelda eaeumb, waTTepgomeiean pans, Hamfemanisatien
Eereugedy erany eureriiEdlenmmr

1, 2, 3, 4 spmser sflwimemanea

1, 2, 3 spmadr sfwrenane deus SapHm HaiDras)

1, 3, 4 mpaysd sfhwurama 2ass) sanfy Heumrens)

1, 2 supmsen sflwrarenea 3, 4 cug) SaDQIsET SeummaTg)

efilenL Clafiwebldene
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124. Who served as British Ambassador to the Mughal Court?
{A) Bernier (B) Edward Terry
{Cﬂ'Thnmaﬂ Roe (D) Willinm Hawkins
(E) Answer not known

apsamLl ipsenaunden My sy grmeuTTs Ul urpdlaiat wni?

(A) Eufrafiwr (B) enleuinl Gsfl

(C) smoaw Gy (D) efilcablwnh gummddne
() el Ggflweiidena

125. Who was called the “"King of the Two Worlds"?
{A) Tipu Sultan (B) Hwder Ali
(€3 Doondaji Waugh (D) Veerapandiya Kattabomman
()] Answer not known

Brao() e aflDhED Sirsan T SenpssULBuat Wty

(A) Sl segren (B) eangt e

(C)  guaim_ngl aunk (D) sbpumamgw & 1 EGumbuen
(E) denu Gafiweldena

126. What is Density of Population?
{M The number of people living in per (one) sq. km.
(B) The number of people living in 10 sq. km.
(C)  The number of people living in 100 sg. km.
(D)  The number of people living in 200 sq. km.
(E)  Answer not known

wds GErens Glla) erernme eramar?

(A) e emy HGar Bl M eudl&gb wisaellan oraneflsms
(B) 10 sgir 8Gen B Meb cuflismd waseflen aanafisma
(C) 100 smy #Gam 5L fé eudlEsb vssellen aammtisms
(D) 200 sgyy &Geon Bl Mé sudldggib wasalldan sranafléas
(B}  efles Ggflielidana
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128.

In 1929, at a ‘Self Respect Movement' conference in Chengalpattu, Thanthai Periyar
passed a resolution relating to an important matter —

~ In 1989, 60 vears later, Tamilnadu had passed a law in this regard.

— On August 11, 2020 Supreme Court passed a judgment in this regard.
What is this?

{A) Giving equal rights to woman in Government empluymﬁm

{ Giving equal rights to woman in family properties

(C) Giving priority to certain communities in acquiring land rights
(D) Giving priority to certain sects in accessing holy places

(E} Answer not known

1929 b sgan® Godsducigd situle swoflures Euss DB g 60, SHeng
Guflwn gi apasdin &l wib Ggm_Tumar Shoranbeang Bwupblenr,

~ &0 60 syan Baiasim Gpe 1989 b gyaimed, sullipsit sigeen s L wons Bubliug.

— asal. 11, 20206 o soffivanpih g Gpm_ e Sitienuu b anpidig.

Gudangpnd LSS spiue el wng?

(A)  Quesgpbss Sire Ceuame aimdibld suo e few

(B) @by Qengia Quergnés s e fawn

(C) g fo sppaiisesis Han o faw Bugedo opangflens

D) gmfe Shaspsie yais GLksafl gempada qpargyfias

(E) ehleni QpfuaBdma

As per Vel Pari’ the book written by Thiru, Su, Venkatesan, the Sahitya academy

winning writer

{a)  “Paari" was a man of nature who knew birds, insects, plants like the back of
hig hand,

(b)  The story “Vel Pari® was that of conflict between man’s greed and nature.

Whil:h of the above statements is / are correct?

(a) only (B) (b) only
{Gﬁ" (a) and (b) (D) neither (a) nor (b)
{(E) Answer not known

erfdn mamaf Quenp egpssmet Him & Gaksll sl sisamd  eEEOULL

(g LA™ srémg preflen L, eser sflwiman sapenm | seppiseer Gaiay Baliueb.

{a)  “wnfl” upeneusdr, WiBad, Fragrsd fupED U ol Geefleursan, ablflamsan
=i indlmibe @ubens soids el ST Leunr,

(b))  “Geusr unf” smgunegy wafigaia Cugnemsigd Bubasish e Gaonan gppamar

Lpanspans.
(A)  (a) wl@d B) (b) wiHid
(C) (a) wppubd (b) (D) () epb Féwnas (b) ub Edana
(B) cen Qflueiidene
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128. With regard to the review related to the Tamil Film and master piece Pariyerum
Perumal’, choose the correct statement(s)

{a)
(b)
(]

(A)
{
(E)

Shows the ill effects of caste system

It won the Film Fare Award under the ‘Best film' category

It was a movie directed by Thiru Mari Selvaraj and produced by Neelam
productions.

(a) only (B) (a) and (b) only

(a), (b) and (c) (D) (c) only

Answer not known

seafipts ua Lo "ufiCugd Qumwed” adp g8 Sepuiib upflu eflwisans EwiEs
Epsrgnid sppsafa)smpda sfunemaiban Catay Gsiiwayb

(a}
(b}
(c)

(A)
(C)

(E)

Fouiib srfu sl enolGen Qamew dlenerayseer sy dar HEng.
Bl ib Bssflnhs L' srénp euflesule GGt ey Qubps

s Am ol Gedagrged Gussiul @,  Ban gurily sugosste
Gaefllduc g

(2) i@ (B) (a) wpgib (b} wi Hib
{a), (b) wppo (c) (D} (e) w{b
el Gafuiehidens

130. Why India has not become self-reliant in edible oil productions?

L High cultivation cost
I1. Low productivity
III. Lack of Government support
IV. Deficient domestic demand
&7 11 only (B} TandIll
(Cy I 1l and ITI (D) 1only
(E) Answer not known
senowe aardand o husduda g Gidwun sheriy e ieldena?
1. S (Baeonan smELIg Daeey
L geops e puph Spd
II. suws L4 FTa [Flearen
V.  Curfu s épm @ Game Berenin
(A) I wimb (B) 1 whgen 111
(C) L I whmm IT1 D) T wlfd
(E) eller Gefluddma
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131.

132.

Which one of the following agricultural practices is ecofriendly?

Mﬂrganit farming

(B) Shifting cultivation

(C) Cultivation of high yvielding varieties
(D) Growing plants in glass B

(E) Answer not known

emeuqmib ehleusmu apapaaiics s @i HLU?
(A)  aflo Gaermamann

(B)  sngu wrpoid

C)  =fls wsEs smib aumssaflen sngLig
(D)  senaeng difsahe am@s sraimser
() e Qafuciidame

"Every registered Land holder is its proprietor”. The system is called as

W" Ryotwari system

(B Mahalwari system
(T Zamindary system
() Mugalayar system

(E)

Answer not known

"ufley Qrlg Bejms @wggae gadunmand sge Qsnpsssngi et Gbs

ApenDeEnill FEuaunm SR pasaTLL
(A Bomusgerd pep

(B)  wasdanf ppap

€y  gdangrhl gpenp

D) opsemui gpeay

(E) efler daflueiidens

T
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133. Identify the sector(s) of Indian Economy which are the most affected by Cowvid
Pandemic —

(a) MSME sector

(b)  Aviation sector

{c}  Tourism and Hospitality sector

{(d) Telecommunication sector

(A)  (a) and (d) only @), (b) and (@)
(C)  (d) only (D} (a), (c) only

(E) Answer not known

@tdw  Gurmenngapddd. Carell Cumpbsrpprad Hleapd Guorsons crdldson o
Sleop(er) -

(a) Ap b sBssT Ssmfidsd (MSME)

(b)  alwmen Curdmeaurhs

{€) epgmeropob dlmsGambud Agmoiura Qemfdssd

(d) Gasrea Sem iy geaon

A (a) wpgd (d) o Gid (B) (), (b} wigid (c)
(C)  (d) wi(Bib (D) (a), (c) (b
(E) Har Geflueilbama

134. Which of the following states has shown the declining trend in the (GST) Goods and
Service Tax for the yvear 2019-20207

(A) Uttar Pradesh, Rajasthan and Assam

(B) Harvana, Rajasthan and Mehalaya

{C)  Andhra Pradesh, Mathva Pradesh and Manipur
(K@ Maharastra, West Bengal and Tamil Nadu

(E) Answer not known

2019-2020 b gymmgen Geamey whgbd s7&E wulfl amdid gaphs eumh Gurss snawlufn
womflenamar wimenau?

(A) e &8y GrGssh, rRauSTET DDIID HFTD

(B) enfwrenr, prepaugran whmin Cuosmamum

(C)  ipdly SyGgped, wiuns SpGseab vhpb weefl g

(D)  wapryraygr, Ciodys eurkisd whab sulipse®

(E) efilen ':I;.!ﬁmnglsbmm
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135. Consider the following statement.
The objectives of fiseal policy are
1. Capital formation
2. Equitable distribution
3. Unemployment
4. Regional Balance
From these, which are correct statement?
(A) 2,3and4

™ 1, 2and 4
(©) 1,3and4
Dy 1,2and3

(E} Answer not known

LU (mil anienm &l

B & dandransuiien Cprammmamaen
1. apesean areunssih

2. siowmen Lifliey

3. Ceasnersuminniensno

4.  swsulnyg euanrsd
Eauppen, sraneu #flwimen sbm?
(A) 2, 3uvppo4

By 1,2uwpmb4d

(C) 1, 3wppb4

(D 1, 2wdmb3

(E) il Gaflusiidmea
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136. Consider the following statement.

The objective factors for determinants of consumption function are.
Motive of precaution
Motive of hiquidity

Motive of avarice

i R o

Laissez-faire policy

Among the above, select the correct statement(s)

(A) 3and4

{W’J,zuda

() 1,2 and 4
(D) 1land4

(E)  Answer not known

Hemaumib snenD Seuel

pstay snieny gaer ey oS e woLeuar &mafsereuen
1. apandenssflians Gprésn

2. Brons gerenis Gpmdmib

3. Cuigmens GErss

4. gaoaulns dardras

Cudsnggib sppsafia sfluraapan Csta) Asiwab
{A) 3 whmb 4

(B} 1, 2 wimib 3

(C) 1,2 wpgb4

D) 1whmb4

(E) chlen Gpfluekidena
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137. Which iz not related to direct tax Revenues of the central government?
(A Taxeson Income
(BY Taxes on property and capital transaction
(C) Taxes on commodities and services
W Taxes on dividends and profits
(E)  Answer not known

ingBlw migflan Ghog aumaunSeanshid Gam iy Baarsg ag?
(A)  sumwmar aufl

(B) Qengg wdonb apagent cuffl

(C) uerLs wHob e auil

(D) uisrgmw whHpd Fevris aufl

(B} eflsn. Gafiudldensa

138. The first blue print for Indian planning came from an engineer administrator

(A M. Visvesvaraya
(BY Nehru

(Cy S.N. Agarwal
(D} M.N. Roy

(E) Answer not known

Eidwumeilar S guisnen eeopuL s apselia epg GumBlume B reumdieSblmba

€U

{A) M. dlaCeusosumuir
(B) Cgm

(C) S.N. ssiamd

(D)  M.N. gmi

(E) sflen @pflwelidma
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138. Consider the following statement

1.

4,

Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh have very high
population. "

In India, Kerala has the lowest birth rate

West Bengal has the lowest death rate

Total popuiation
Land area of the region

The density of the population is

Among these, which are the correct one(s)?

(A)
(B)
(C)
(D)
(E)

T und 8 THE QUESTION AND ANSWER ARE TO BE
FPLACED BEFORE THE EXPERT COMMITTEE
FOR FIMNAL DECISIONM.

2and 3

1,2and 4
dand 4

Answer not known

SeEaumio seheD Seuafibe

1.

Cenleen saim_eupme sfluraraea sTeneu?

{(A)
(B)
(C)
(D)
(E)

GR1P/21

Sar. wiBu GrGasn, @rmgdisrd whmd egHr Sgtssd sfvema sfls oasdr
ogmens Glamaer e omEin

Gapern ek meands (ol alflsd Qe Hierag
Cindg aumismans Blas gephs Brly Hdsioms GaranDaregy

wésdr GErans S_TEH erarnig Glumgs wesl Agrams
S gdiusles Bleocumiiy

BaCadall wppd ala @pg) gy allpars

1 b 3 adgIpT el o @wssiu s aay.
2 b 3
1, 2 wimeh 4
3 whHpib 4
aien.. Dafwefldana
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140.  Which are the correct statement(s) related to “T-Bill’' Treasury bill?
{a)  They are issued by RBIL.
(b)  They are issued by Govt of India.
(e}  Treasury bills pay ne interest.
(d)  These are long term debt instruments.

(A) () and (d) only @) and (c) only
(C)  (b), (c) and (d) (D) (b) and (d) only
{(E) Answer not known

Epangd sppsefis: ‘T-Bill' (Treasury bill) @sm_tuner sflwuramaubenm Gairay Baliwayb
(@) e @idu fleis aumndund Seseflll, Hu@daman,

(b)  emeau wdfu spsme Geuefid LG

()  wudlen By el L §uang.

(d) oa AeBmsresia ugdrdsdr 1.

(A)  (a) wpmi (d) wd FHb (B) (b) wdmb (c) wi Hb
(C) (b)), (c) whgd (d) (D) (b) wHgbd (d) wi GHid
(E) dieo. Gsfludddamea

141. Thanthai Periyar wanted people to consider the following as equal to their lives
(A) Independence for the motherland
{B) The family honour
LQJH" Self-respect
(D) Rational faculty
(E)  Answer not known

gpas Qufiunt, s shisdr e uSmEE gluns aarer CaudnHib e el miGug
(A)  smis gt g sn Bl Hgema

(B) @Housaypanb

(C) &wwfurens

(D) uEssdiub Sy

(E) eflen. Ggfhwalidena
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142. Consider the following statements:

1. The term of office of the Attorney General of India is not fixed by the
constitution

2. The remuneration of the Attorney General of India is not fixed by the
constitution

Which of the statements given above is/are correct?

{A) 1only (B} 2 only

@ Both 1 and 2 (D) Neither 1 nor 2

(E) Answer not known

Sipsatm_ smpenp eraraniil unés

1.  @sfu geveano anpssBlenilen ugsilsmaob srfluaeninid Sramilisoucdbda

2. @ifu seeen aygssfefe sdud srfueendds Bremdssiusidama
Ganpassiu’ B eunddlyimatle argy swmeang)?

(4) 1wi@ib (B) 2wl @b

(@ lupgo?l (D) 1 oppib 2 e

(E) eflen Glgflweiidenc

143. A Chief Minister supported by Thanthai Periyar challenged that “Show me a person
who died because a lower caste doctor wrongly injected or show me a building that
collapsed because it was built by a low caste engineer”. It was

(A) Omandur Ramasamy

@ Kamarajar

(C) Argnar Anna

(D) Kalaignar M. Karunanidhi

(E) Answer not known

sps Guilunies merada gaandst eoat B sard afigant | “srpbs srd
imhseT sanrs eadl Gumie grd Bpis am weliger adaefl i sranSisen sdag)
smphs srfl Wunblwrane saikg Guren @f &g hang remetle_ b mmam Sdseyh.” Eleamg
S O EUT WimT?

(A)  gujgi Gomosms
(B)  smogmggi

(C) by ramaen

(D)  sesagst qp. s
(E) sfleo Gfluwellidemna
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144.

Consider the following statements.

A high court has jurisdiction to

(1)
(2)
(3)
(4)

Punish for its contempt
Tender advice on a legal question referred by President of India
Tender advice on a legal question referred by Governor of the State

Issue certain writs to protect fundamental rights

Which of the above statement(s) is / are correct?

6 (1) and (4) only

(B) (1), (3) and (4) only
(C) (1), (2), (3) and (4)
(1) (2) and (4) enly

{E) Answer not known

ewiffwdn sfanmd Qe fune Lpsdn sppsmear swallssayb.

(1)  Sdwdnm seundi senis san_ame auphissd

(2) @S sinurs gl Bmis storsmasd Calsiiud L seng aughiseamb
(3)  wnfleo SEnpfcSimis g Corsmansdr Cal sl sens auptisamd

(4)  sglivenL 2 Manwsaer Lngariushers S Cugramansamer Snidssam,
Beupifis ergy sflwner sapp?

(A) (1) wimid (4) w Hib

(B) (1), (3) wppub (4) wi_ B

(C) (1), (2), (3) wpgd (4)

D (@) whpd (4) wl @i

(E) efen Quflucildiency
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145. Which of the following statements are not true?

(a) In 1969, the Government of Tamilnadu appointed a two-member committee
called Rajamannar Committee to examine Centre-State relations.

(b} It recommended that All-India services should be abolished

(e} It recommended that Finance Commission should be made a permanent body
(A (a) is not true

{(B) (b)is not true

(C) (c)is not true

(D) (a), (b) and (c) are not true

(E) Answer not known

Epsreariumn arsfwuisaio ame/ (5) sauprang/{@a)7?

(a) widu wrble o paysmer ey Gedw 1869 L0b Seen® sllpRmB Sirs grguodre
&0 g sremm Byan(l e pudlanraamens Baran. @ip aeran Sulsss.

b o sde @i Gemasmar giflis GauanBo sréanp uflfsmogss.

(c) B meerwun ppaouce gnm BiEsy Sewouns Gess CaemBo e
ulpgiensbssi

{(A) fﬁ] oL (T T 0y

(B) (b) paupreng

(C) (c) paupreng

(D) (a), (b) whmub () smuprama

(E) eflen. Ggfluaidena

146, Which schedule of the Indian Constitution specifies the powers authority and

Kesponsibility of Panchavat?
(A} Seventh schedule (B) Sixth schedule
(©) Tenth achedule @ leventh schedule

(E}) Answer not known

Eifu Ssrfusaolla abs 0 aeenbs ugssTuSs Pl Synnd, SidlsTb
whmn Surm s HoRC oo’ Heraran?

(A) Teug sl euenan (B) Beug i1 asenem

(C)  10eug =i L cuemen (D) 1leum =L suenanr

(E) ebleni. Geflueiiome
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147. Consider the following statements -

148,

I.
I
111
IV.

(A)

Governor 18 appointed by the President

He is the nominee of the Central Government

The Draft constitution provided for the indirect election of the (Governor

The Constituent assembly opted for the indirect appointment of the Governor

Choose the correct answer :
(I} and (1T} only correct (B) (1) and (IV) only correct

{w and (IT) and (IV) only correct (D) (III) only correct

(E) Answer not known

Epdsan. spap smpaid

I ayienpt @yurs soaagme SuldlssciuGepnt

II. s ingdlu sipemsssgne fluwenh Qadnb pui et

Ol aearsy spfluaaoiug sl b senpt Auoaidps wepops Caiga qpapeny
G p il gy

IV. srflueecly fieu sou, sumst Csiggées wepaps Bune apape
s(BEgE Wanam g
sitwren eflenenw BsfbEshes

(A) (1) wpmud (1T w G & (B) (D) wdmud (IV) wl (Hub &

(C) (1) wiged (1) whmd (IV) wC @b #fl (D) () w' G &

(E) efen Qafwclicbans

Which of the following Institutions has the final Power of deciding on the
Composition of the Upper House of the State legislature?

M Parliament

(B)
(C)
(D)
(E)

State legislature

Lower House of the State legislature
MNone of the above

Answer not known

wirfle s wep Guaamaudar e plifent adnemflbmsamy fieniss s Boeiand wrg?

(A)
(B)
(C)
(D
(E)

LIS L0680 LD
LOTHbles FLL LoeRmID
wrBle s narpgHen Spaa
Guhsadly sravaun)l Bdana
eflant_ Qafluelldana
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149. The Indian President has a veto power over

I. Ordinary bill
II. Money bill
Ii. Constitutional amendment bill
IV. State legislation bill
Which statement given above are correct
& (1) and (IV) only (B) (V) and (I1I) only
(C) (I}, (TII) and (IV) only (D) (1) and (I11) only
(E) Answer not known
Bpfu myurs gmea’ aga B rhs Galdap sfsmims Daramg madpr
L. sngapen nGengr Sg
II. ff wlangn By
. srfuaesednd sl Smis oCemst Bg
IV. e s wGsrsribg
Ciopeefluseuhmyer g sflwmeng?
(A (1) wppo (IV) w G (B) (V) wigs (1) vl Go
(Cy (D), (III) whmd (TV) wd Gb (D) (1) whged (1) wlBo
(E) dflac Qeflucidma
1650. L Meney Bills can be introduced in the parliament without president’s approval
II.  The finance commission is appointed by the president
Which of the above statements are correct?
(A (Donly Elﬂl"ﬂ']} only
{C) Both (I} and (1) (D) None of the above
(E) Answer not known
L B8 wisrgr, geanfuflta ufggenGad gronmoansfd srésd Galuiu@e
L @fuff geenus garfuund Subbsiubapg.
Gupemdluaniis ag sflurangy?
(A) (Dwlfd (B) (II) wi(hn
(C) (T) whmb (1) (D) Cuisar. aaaufdasn
(E) eflen. Gaflwelidene
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151. The eouncil of ministers of the Parliament hold office during the pleasure of
" Prime Minister (B) President
(C) Parliament (D) None of the above
(E) Answer not known

Br_mignuen ssenndsqenes fig Oog, Blaurs sy EmenLim

(A) Gy widf (B) mermglud

(C) mpmom@soanpo (D) @ow ameb B
(E) ellen. Glgfwetidene

152. Which of the following articles broadly Govern the relationship between the
Prime Minister and the President?

(& Articles 74, 75 and 78 (B) Articles 51, 74 and 75
(C)  Articles 85, 74 and 75 (D) Articles 74, 75 and 79
(E}  Answer not known

Hemaumin erig effsd pam@ud whnb Grse wiffdea o paysaa shlafsddanpen?
(A) ebiflsar 74, 75 whgh T8 (B) efiflser 51, T4 whpubd 75

(C) efiflsdr 85, T4 wppb 75 (D) sblfisar T4, 75 wihpid 79

(E) ellen Gaflwebidama

153, Directive principles of State Policy are described as "hife.giving provisions of the
constitution” by

(AW L.M. Singhvi (B) Ambedkar
(C) Rajendra Prasad (D) Radha Krishnan
(E) Answer not known

e Cong auyflan. B Garmeassdr eerug srfluwamolnShe euSyelidmn liflserngmo’

eren S i camiiY,
(A e enb. Slieal {B) sbCugsi
(C)  @oCgidly Syeng (D) @ors Sl msiyanren

(E) efen Gaflwelldana
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154. Consider the following statements on Fundamental Duties :
1. Parliament cannot enforee it by a legislation
2 It is applicable only to Indian citizens
3.  All Fundamental duties are either moral or civil duties
4 Paying taxes is a fundamental duty
Which of the above statements are true?
(A) 2, 3and 1l are correct
(B) 1,2, 3and4 are correct
(& 2 and 3 are correct
(D) 1, 3 and 4 are correct

(E) Answer not known

Bl DU & s_ennsar Gemiuren Spssan. eundsd unisaer seuailssayid
1. B MERoanDD aLGdlen apeo Bles owduBEs npigung
2 @p @by EuubseiCs Quigipn

3. SmaEs Sylosm. seeosECo  gupdés GpflsmaGur  sdeg  (Sgawn

S oSG By Liueni wins Gama smeu

4. e auflsaer Deguigieugib @@ S UUaL S
Guofh saplin (RerareuhmeT erane #ilwimenanas?

(A) 2, 3 uwpgd 1 sflwrersne

(B) 1,2, 3 whgb 4 sflwmarenea

(C) 2 uwdgnb 3 sfhurasena

(¥ 1, 3 wpod 4 sfwreneney

(E) efleo Ggfwelicana
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155. Which of the following fundamental rights was converted as legal right?

156,

(A)  Right to Equality
(B} Right to Freedom
(C) Right to Religion
@™ Right to Property
(E) Answer not known

Sleeu(meuamsu o erhg g (el o flamw sl o fewwirs wrpoliuc L g?
(A) swvize e fawn

(B) &gpfyefan

(C) wgs fienws

(D) Qsrggfian

(E) eflan Qefluelioma

Identify the fundamental duty that was added in 2002 by the 865 Amendment Act.

(A) Respect National Flag

(B) Defend our country

(C) Develop Scientific Temper

WT" provide opportunities for education to children between the age of 6-14
Vears

(E) Answer not known

200260 86w SpFlwa smsen SmEsd FLb apawns Bedstiul L S UL SRS
st fks.

(A} Cadlu Uamgeni s

(B)  pog pries, Lngsrisd

(€C) sufleflud e CubuBigsd

(D) B pae 14 auwg Bpbagswrssne soal shsh amilig aiphiss

(E) eflen Qsflusidaes
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157. Consider the following statements :
1. The consititution of India establishes a Parliamentary form of Government
1I.  Prime Minister is the Head of the Government
I11. President is the Head of the Government
IV. Real executive power rests with the President of India
Choose the correct answer from the following :
W"’ (T) and (II) only true (B) (IID) only correct
(C) (1) and (IV) only correct (D) (IV) only correct
(E) Answer not known

Spsan_ spap S{EFeD

I Bifu sirflueeanoliuE LD LITTNEROED HTSThS (pampaL Blpeluydrang
II. Spgwisperusgian gl Syamt

I, @uers geael sgsmiasien seaieul Spaum

IV. @guls geast eamaourear suan’d syfismb Clamean_eu

sfhiwumen cileni_ o sam_pls
(A) (1) whpad (IT) wl G of (B) (1II) wl (o &
() (D) wpmid (IV) w G & (D) (IV) wiBib sl
(E) eRen Gmfwshiaemes

158. By what name or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan
(H)* India and Bharat
(C) Bharat
(D) India, Bharat, Hindustan
(E) Answer not known

Bipdlu srfuseninbe gl Gul G kS undd Gl wirg?
(A) @ifwer whge Gkgesnes

(B) @sfHur whpbd unpgd

(C) umsb

D @bdur urggsd, Bhgeogne
() eilen Gaflweiidmea
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159. Match the following :

(a)
(b)
(c)
(d)

(A)

Article 39{h)
Article 48(A)
Article 39(d)

Article 38(A)

(a) (b)
1 2

@ 4 1

()
(I
(E)

Epsam_subeny DunmEss |

{a)

{b)
(c)
(d)

(A)
(B
(C)
(I
(E)

4 3
4 1

Answer not known

(c)

3
2
2
6!

sC L o gy 39(b)

s o i 4B(A)
s e gy 39(d)
s e muiyg 39(A)
@ ® (@
1 2 3
4 1 2
4 3 - 4
4 1 3
allen Gl flelldiensa

Protection of Ecology, Environment from Pollution
Equal pay for Equal work
Free legal aid to the poor

Abolished hereditary property

g nhgyd shpé @pd wraumgSlmbe

urrﬂ&mhq
=10 Geueneniss, s eanfluih
gany sreflu wesEpds Dlaaws s o e

urbuenT Elangs enn ifldse
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160. Match the following :
Preamble as Said by

(a) Political Horoscope 1. Sir Ivor Jennings
{(b) Keynote to the Constitution 2. Thakurdas Bhargav
() Soul of the Constitution 3. B.R. Ambedkar
{(d) Paradise of Lawyers 4. KM Munshi
5. [Earnest Barker
@ O @ (d)
A 1 2 3 4
By 2 1 1 5
Q74 5 2 1
D 1 4 3 2
(E} Answer not known
Hummsss
(PSR Tl Ligo Sa e
(a) Spfwd grEso 1. sfggeul Ggpemafin
(b) spfweendnSd srehl 2. STETETE LTS
(e) =wdfwuwawlnbe gemon 3. Olgh sebGussd
(d) eaupssteraatiea Gentssd 4. Ga.erib. gpend]
5.  aTeREL LTTEST

(a) (b (c) (d)

Ay 1 2 3 4
By 2 1 4 5
(C) 4 5 2 1
o 1 4 3 2
(E) eilen GsMweiidens
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161.

162,

163.

Find the value of & if

142" 4 = 44100

(A 20 (B) 21
(Cy 22 D)y 23
(E) Answer not known

ke -t ingl i wmera.

12V kb = 44100

Ay 20 (B} 21
cy 22 (D) 23
(E) e Gsfwusiidamea

If A=2% and B=2%+ 2%+ 2% 4+...4 2" which of the following is true?

(A) B islargerthan A by 1 @ A is larger than B by 1

(C) A and B are equal (D) B is 2* more than A

(E) Answer not known

A=2" ppgih B=2%+29; 29,49 g QsnRssiu Gy eefid
Glaneuqmeuenahifie argy o amann?

(A) B geam Agee 1 sfisb (B) A sjengy Bgell 1.sflsn

(C) A wpgo B sow @ B gom A 2% aflsn

(E) e Osfuctidama

Find the missing number :

3,12, 27, 48, 75, 108, ————

w147 (B) 162
(C)y 183 (Dy 192

(E) Answer not known

el (R TREENGETS &iTaTE -
3,12, 27, 48, 75, 108,
(A) 147 (B) 162
(C)y 183 (D) 192
(E) eflene Qpflwshldeaea
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164. In the given number pattern find the next term

21 321 4321
33" 44475555
7531 1234
—_— B
@ Gese ) 5oos
4321 2321
© 2 66666

(E} Answer not known

z—; . E . ;::; ' eTenD yenoindli fEs eraimenannd srdns.
7631 1234

@ 6666 o 6565
4321 54321

0 — i

b 2222 ® 66666

(E) efleni Gleflwehldana

165. If ‘HUMBLE' is given by the code EHLUBM. What does the code EDUCATION
mean?

(A) NEDOIUTCA
(B) NEOIDUTCA
(C) NEDUOITCA
(M NEODIUTCA
(E)  Answer not known

HUMBLE seéueas EHLUBM egub @il ré sriugar EDUCATION agub @dlE
aEenand il 7

(A) NEDOIUTCA

(B) NEOIDUTCA

(C}y NEDUOITCA

(D) NEODIUTCA

() e Gefiuaidama
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166. What is the probability of getting an even number when a die is thrown?

1
@ = (B)

W% )

(E} Answer not known

i |

S LS ey el Bhduryps ef Bl due aar Saclousghene flapssa) wng?
(A) (B}

(C)
(E) sflen Qsfluelicensy

(D)

|;-.:||-J e
oo |k

167. The present ages of Arun and Suresh are 24 years and 36 years respectively. What
was the ratio between the ages of Suresh and Arun, 8 years ago?

(Ay 4:7 (BY 6:5

@ 7:4 D) 3:2

(E} Answer not known

Symalr whmb s0rdy sHCurmgy awgadt qpaptu 24 euhehisdr whpid 36 L RS
aafie 8 menBsgnés opany sGray wppd EET Qugseia dlfgn ednerans

BEpdmesa?
(Ay 4:7 (B 6:5
(C) T:4 (D) 3:2

(E) dfleo Qsfiwebldena

168, A and B together can do a piece of work in 16 days and A alone can do it in 48 days.
How long will B alone take to complete the work?

(A} 18 days Mﬂi days
(C) 28days (D) 30 days
(E} Answer not known

A ogi B agdu @oambd Saenig e Gauemama 16 prisafle gyt A gefiCu
aihs Caumamu 48 prisefld apglunt aafide, B gafiCu s Camamu assmean

B safled g umT?
(A) 18 pmiser (B) 24 pmiser
(C) 28 pmisar (D) 30 prC_men
(E) sl Qeflueidena
n GR1P/21
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169. 210 men working 12 hours a day can finish a job in 18 days. How many men are
required to finish the job in 20 days working 14 hours a day?

(A) 156 men [MEE men
(C) 168 men » (0}) 172 men
(E) Answer not known

210 syarser pridemranyég 12 wefl Gapd Geuener Grlg g Caumasnu 18 mrlsaflcd
apig . iGE Casnaenw mrtlarmeaamss 14 wefl Crmb Gaumer Walg 20 prlisefla npyis

edmanan oy drad Caaa?
(A) 156 syabmsar (B) 162 gyamser
(C) 168 myamser (D) 172 syemser

(B) sflen Gafluefidane

170. If 5 persons complete 5 projects in 5 days then 50 persons complete 50 projects in

— days.
{P.;./ 5 days
(B) 10 days
(C) 50 days
(I 55days

(E) Answer not known

5 putser § Caemeeaw b pmisafla Gealg pulor eafle, 50 sursdar 50 Camasaan

i safle Geig qpig o,
(A) 5 pmiser
(B) 10 pmisen
(C) 50 mriser
(D) 55 priser

(E) el Qpflusefcbeny
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171 A mason uses the expression 2x® +16 to represent the area of the rectangular floor

172.

of a room. If he decides that the length of the room will be represented by 2(x +2)
then what will the width of the room be represented in terms of 7

(A) 2(x-2)

B) (x'-4)

{W (x* — 22+ 4)

(D) (x* +2x-4)

(E)  Answer not known

slig. Caumawumd gEan Ssepud Grdias aiga sorulda upluare 2x +18 Teng,
fmonefiggis Csmaminh. mgdn femb 2(x+2) crend EibslulLrd ssawreny X -an

gimLITS Gleraymeuareu e e ?
(A)  2x-2Z)

(B) (x*-4)

(C) (x*-2x+4)

M (a*+2x-4)

(E) eflen Qupflwehidenc

The volume of a solid hemisphere is 20106 em®. Another hemisphere whose volume
18 two-third of the above is carved out. Find the radius of the new hemisphere.

(A) 21l5cm
(B 12cm
(B 21 em
(D) 23cm

(E) Answer not known

g fams sepsGanmilien sensma 20106 5.058. ppanfla Fram® ukiE sen Seraysman
wiHGpm senpaGarenn Gfdlmis GagsstuGuorend Lfu swersCaragSan aymb
G

(A) 21.5Qsi8.
(B) 12 Qaub
() 21 Qs
(D) 23 Geib.

(E) eflenL Geflwetiome
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173. The difference between simple and compound interest on a certain sum of money for
2 years at 2% per annum is ¢ 4. Find the sum of money

(A) =2,000
(B) 7,500
(e * 10,000
(D) 12,000

(E) Answer not known

2% e el igifi 2 HErbiE g SFRaEs Soids M0 algszh gafl alysgd
Benr Cwyeren elgHunsn T 4 afid sapdien sise adan?

(A) =2,000
(B) =7,500
(C) 10,000
(D) 12,000

(E) ellen Ggfluaidaa

174. The difference between the compound interest and simple interest accrued on an
amount of ¥ 18,000 in two years is T 405. Then the rate of interest per annum is

(A)  12% (R T5%
) 18% D) 10%
(E) Answer not known

Bm amihssia 18000 dSsgrar &lf awls, geflacy gdoapfle digfursn

t 405 erafléh) augmL e i el
(A)  12% (B) 15%
(C) 18% (D) 10%

(E) eflen Gufliuchioaa
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175.

176.

Find the rate of interest if the difference between C.I and S.1 on ¢ 8,000 compounded
annually for 2 years is ¥ 20

9 5% (B) 10%
(C) 15% (D) 20%
(E) Answer not known

t 8,000 &5 Rrean® gerBagss delbEmbd aml ( algdmb, saf al s el Gy
o crer eblgflwnan € 20 oafld an’ iy efgb srans.

(A) 5% (B) 10%
(C) 15% (Dy 20%
(E) e Uafuebidamea

Find the principal on amount T 11,800 at 6% per annum for 3 years being simple

interest annually.

(A) 28,000
(B) =9,000
{GV’: 10,000
(D) 9,500

(E} Answer not known

ppamramhaate 6% safleu 1y eigh Guords Cgreans T 11,800 saflsamn ssemad srabrs.

(A) ®8,000
(B) =9000
(C) * 10,000
D) €9,500

(E) e Gsfweiidama
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177. The value of a machine depreciates at 10% per vear. If the present value is
¥ 1,62,000. What is the worth of the machine after two years?

(A} ¥1,29.600
(B t1,30,600
(C) ¢1,31,600

By ©1,31,220

(E) Answer not known

o0 Bupdrifa solunmsu wdiny T 1,62,000. gdQane yerpagn Bupdsde
wfiiy 10% gopdng, safld, @ran( ganad sfilsg @ddlupfyggle gy aema?
(A) ®1,25600

B) *1,30,600

(©) *1,31,600

(D) ©1,31,220

B e sfuboma

178. A sum of t 48,000 was lentout at simple interest and at the end of 2 years and
3 months the total amount was £ 55,560, Find the rate of interest per year.

r.-w’ 7% (B) 8%
(C) 9% (D) 10%
(B} Answer not known

sLmTs anpiisii’ L s ¥ 48,000-45 2 garfed 3 wngs sragdiEd G saflan s
apant Guptiud L Sergss Ggres T 55,560 ous Bmbss aefld, wly dizsmes srdns.

(A) 7% (B) 8%

(C) &% D) 10%

(E) &Senr Glgfluehidama
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179. Raghul wanted to find the height of a tree in his garden. He checked the ratio of his

180.

height to his shadow length. It was 4 : 1. He then measured the shadow of the tree. It
was 15 feat. What was the height of the tree?
(A) 15 foet (B) 30 feet

(S 60 feet (D) 75 feet
(E) Answer not known

Bomge gang Garl Ll eerar qm wisden ewgdans blu algmn Seanmi. SOGUmE e
seng e wghegub, gag Hipda Sargamsub sais og 4 2 1 aap dldsidd odaamas
syfibsmr. am ngifan Bipelen fomb 15 sy erafley, wogHen e wumb srenen?

(A) 15 =g (B) 30 g

(C) 60 sy (D) 75 =g

(E) eflen Gleflwshidena

A shop keeper marked the price of an article as 15% more on its cost price and then
offered 15% reduction for the article, then he got

(A) Profit

(Bl Loss

(C) Neither Profit nor Loss
(D)  Profit as well as Loss
(E) Answer not known

G s sET g Qunmeten =i ds eilmeaulia 15 sgalgn sfisonsd g Ehiss dlaa
SpEERnTT, s 15 sgelpin senenuig sha elpumen Qeldpri crafld s dami el bEg,
(A) amuib

(B) pliib

(C)  emugp Fedene Bl gl Gdmea

(D)  enuwnTsab Bl(HEED B L wrsab &msEo

(E) &Ea Gsfluciidma
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181. A hemispherical tank of radius 1.75 m is full of water. It 15 connected with a pipe
which empties the tank at the rate of 7 litres per second. How much time will it take

to empty the tank completely?
27 minutes

(B) 26 minutes
(C) 72 minutes
(D) 62 minutes
(E}  Answer not known

smb 1.756 & edver g swnpGaner angeud Gaming qpodlgnd Sora Brdudud Bemg. om
mpmflés pped eflmmgsm T SCui dign Gsmigddimsmn B GaefCudpiuBwmeme,
Amm e srdieuana) Enrgdd apopauigiors sredl Beliwsnb?

(A) 27 Sl rissar

B) 26 B8 fuser

(C) 72 Bl fisedr

(D} 62 Bhf rusen

(E) e QAsflweicme

182. Find the LCM of (x* - 1), (x* — 2x + 1)
(A) (2 +1)(x+1)

B (x+1)(x-1)
(C) (x*+1){x-1)*

B (x4 1 +1) (x - 12

(E)  Answer not known

B.Quimw sraws. (x! - 1), (2 - 2x + 1)

(A) {.1.'2 +1) {x + 1)

(B) (x+1)(x-1)

€ o+ -1

D (2 +Dx+1) (x-1)
(B) dhle. Gefusidena
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183.

184.

Find H.C.F. of {.:czy + xf}, {ri + 1y)

(A) =x+y (B) xy
( x(x + y) @) x*+y*
(E)  Answer not known

('y + "), (2" + ) g fuapde & Qur. w. srens

(A) x+y B) =y

(C) xlx+y) D =+
(E) eflen Gafwichidane

Simplify 5— + % o g
@ 6y
@62
© 6g
(D) E%

(E) Answer not known

SOhEs 5-15 . : P g-
W 6g
® 6
() E%
(D) E%

(E) eEear Guflushidena
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. A 4 3 &5 30 12 =27
185, Elmpllﬁr.E+E--§+ﬁ--E-x 5
3 43
Mﬁ ®
33 13
(C) 5 (D) o
{E) Answer not known
ks 3 B A0 IR ST
oWr3’s 3 12 8 1
o3 43
A e £
o 12 ®) 12
83 13
C) — 5 S
(C) 3 () 2

(E) &fa Gafiusdea

186. According to Darwin, speciation is effected by
Mma]l continuous heritable variation
(B) small continuous non heritable variation
(C) sudden heritable varmation
(I} sudden discontinuous variation
() Answer not known
Lrirehler sadimilicig Ferbad ergan apah CarppefléssiuBdanpen?
(A) Al Qem_i wy smifhs WL
(B) S Gerf wry ebang wrpund
(C) Bt gy snitps wrpun®
D)  Pat Qgmisdlupp wnpunG
(E) eflan Qeflwelsama
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187. Agriculture Information Service Network (AGRISNET) was launched for providing

188,

following information viz.,

I Rainfall

II.  Fertilizers position

I, Minimum support price

IV. Sister departments of farm community

Select the appropriate combination

(A) I 1II and III ﬂ"f, ITand IV
(Cy I 1IandIV (D) II, Il and IV
{E) Answer not known

sy gaad Cseen weowuenty (AGRISNET) Spsrgus OpreliSd o den
ssabsaer snApg

L wenp Glumyfiay

1. ey@moy e

I gagihsus a0y sl

IV. ueraean sppsidan genan geopsda updl

siliunen Gaisamsamy GHTay bElwab

(A) L II whgu IT1 (B) L I wndygs IV

(Cy I I wpmpo IV (D) II, 111 wigas IV

() e Gsflwebldena

Which of the following incidents led Thanthai Perivar to agitate for Communal
regervation ;

{A) Hepresentation for the backward classes was very little in Government jobs
{(B) The Central Government resolved to invalidate the Communal reservation

{(C) The State Government resolved to invalidate Communal reservation

(Rl The High Court and the Supreme Court declared as invalid the Communal

reservation for professional courses
(E) Answer not known

Sipsngmd ahs sbuwksd shes Qufiurey agluans B eEsE0 Csaa aap
derréflenw Grrad o ffcoig

(A) s Cauenssafid Seangrudlu sugliysaiien biss menpeunen SlodBSsgsen

(B)  eagiyanfiure @ OukfE Gedoang oem wifu Sios Gubdlu Snoremnd

(C)  ausiyanfuren @Liukb® Qedoeng eer wifle sios §upllu Sforen

D Qsmfdemn sdelufls agouaurfiures G ounl® Groang car ewiffodmnapb

wésffuapopd sflessg
(E) &flan Qafluiahldana:
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189. According sustainable Development Goal India Index 2019, brought out by the
NITI Avog for the year 2019, Tamil Nadu stands

(A} First
(B) Second
*” Third
@) Fourth

(E) Answer not known

2019 b gen® B HCurd Qaefll. @rfwredle flawssgsss aamzblésna
Boigsd GRS a0, SOPHTO AUPRwEGH> Gid

(A) (PSRTELE]
(B) @Erar_mag
©) e
(D) mpressmaug

(E) efflan Qg flweilsane

190. Water drop in space is spherical because in the absence/reduced effects of gravity,
the forces governing the objects are all the same and therefore the drop

M attains a shape having the least amount of surface area,

(B) attains a shape having the maximum amount of surface area,
(C) attains a shape having the least volume.

(D}  attains a shape having the maximum volume.

(E) Answer not known

elsrdeiefilise mnoy Bl Bawnssemd/mooars Bmousemo, dunmasafien Sgren
Sinanisy clamssenb swwns Bmsfog. Geand clarbouafilia Ersgeflumangy Cararayay
CumdEmg. eaurm Garar aigaub stBUugenmsd, Bhriseaf

(A)  dlss gepsurar Guduriy GErar el s DD

(B) s sblswrer Guodugly Glamam angeubans il ng.

(C) ek geopeume Lmwoen Herear augeuseng o Dims:.

(D) bls sifisorer Lmpod Serar. g asns DS,

(B) efen_ Ggflwehidenen
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191. Athikadavu - Avanashi scheme is related to

192,

(A)  Drop irrigation

(B) Pour - irrigation

(C)  Drinking water and Well Recharge

(@*” Drinking water and Ground water Recharge
(E) Answer not known

Siffa e - sellprd) HLD sanug Spamasmaibpe oo GEm e wg?

(A) Qe B ursengd 1 b

(B) Qsefiiiy B ursensdi b

C)  @abdiwppo Sermsd Qefigy’ @i HCLb
D) Eubiwpmd Hegsn B ooy’ Gib S i
(E) dilen. Gufwciidencs

Why Chennai is called as " Detroit of Asia™?

(A)  Due to the presence of Textile Industry
{Wﬂuﬂ to the presence of Automobile Industry
(C)  Due to the presence of Leather Industry
(D)  Due to the presence of Film Industry

(E) Answer not known

" Flwimeblen @ gmin’ " erempy Claanenan e e pssULBH S D ?
(A gayafs Gamfls Boougmnd

(B) Gurliri anseng Gmmbid Bmoiosanmd

(©) Cané Qsmfd Bmiusamd

D) Feopiu g Asmfe Gmpennd

(E) el Qsfwciidme
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193. To reduce the Investment and the Incremental capital output ratio the following
approaches are to be accomplished

L. Static efficiency

II. Dynamic efficiency
II1. Alloeative efficiency
IV. Technical efficiency

(A) - L 1L IV only (B) I, 1L, III only

() I 1, IV only T, 111, IV only
(E} . Answer not known

g sl wigh sfsfégd pose Qeddl ( ddspmss Gapss Geraummb
sgpsapansd Baplappiu. CadrBin

L Hlenarwinen Qevdfpen

II. wrmddswddps

I, gzssE Gsvafpen

IV. Gamfien’udsuddind

(A) L IIL IV wi (B) LIL I w'®w

() LILIVw G (D II, 111, IV w (e

(E) cflen Csflwishldena

194. According to All India Survey for Higher Education 2019, which State produced the
maximum number of Ph.Ds. in the country in 20187

M Tamil Nadu (B) Kerala
{Cy Maharastra (DM Gujarat
(E) Answer not known

s@ads BESu e vt sosflEsta sanaCsBly 2019 We uy aps wrflod 2018 B
siflsLl s aareflLeansulerman 3. d g Saner (panarsuiTsenan ) B reunsdludtang?

(A  sfpmrl (B) Capern

(C)  wsmyreyigyT (D) mmong

(E) dflenc Qeflueiioma
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195. Consider the following A=sertion and Reason

Aggortion (A) ¢

Bringing down the influence of the rich and powerful people in
making Governmental decision making 15 the challenge 1n the
eoncepl of ‘expansion of democracy’.

Reason (R) : People's participation and their control mm meaningful, only when
influence of the rich 18 brought down. It results in “Deepening of
Democracy”.

M{M is wrong but (R) 18 correct

(B} Both {A) and (R) are correct

(C)  (R)is wrong but (A) is correct

(D} Both (A) and (R) are incorrect

(B} Answer not known

Epaimib sms wpod srimnb duaben saaflésas,

s@Ea (A)

srpamb (R) :

spsmas  opePafssde, verdstpisdt wipd  esflemb el bs
nksaflan Cedeunions maplug aaug “pasmus cflurssn” agb
indad LGl mﬁ:;gm‘n sauisailar s HOunE eerug vsndsyiseafldn
Cledeurd® @apssluboturg wiPbe GunmEneaoLgts oTp.
ElsGa mempmusgens 00U EHEHD HL iy S@HLLOTERD,

(A) (A geum spami (R) ol Gib =M

B)  (A) wigd (R) oewEid s

(C)  (R) saum speomeo (A) &

M)  (A) whgn (R) Byan@in s sde

(B) eflan GaflueBdane
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196. Assertion (A) - Access to Primary Health centres helps identification, care and
prevention of communicable diseases in rural communities.

Reazon (R):  More optimum utilization of rural health infrastructure is expected to
vield expected results.

(.V'Hm.h {A) and (R) are true and (R) is the correct explanation of (A)
{(B) Both {A) and (R) are true but (R) 18 not the correct explanation of (A)
(C)  (A) is true but (R) is false

(D) {A) is false but (R) is true

(E) Answer not known

o mBlue & spd (=) : Sgmo wEsE satEny aowksamen aallsrs s@mEn Sung
Sipwsseie Cu Gamm Cemisser e wrand smarab,
saafEsa)b, shesab e sapding.

ammemih (&) : gmoliyp  sergny  adsl Lmollldr  eshs  wweun®
erfTEmTamD Lcamend S5t

(A) (o). () Boe (o ol @i dan () eranug (o )-allar aflwmen el arsin

(B) (o). (=) @rew b of). @is e (en) erarug (o )alar sflurer ellenian Ly da

(C) (o) #fl geame (&) Seup

(D) e seup penme (si) &

(E) eflenc Gafluaicem

197, Which 1& the first state to employ differently abled, in the Mahatma Gandhi National
Rural Employment Guarantee Scheme?

(A) Kerala Mami]ma&u
(Cy Gujarat (D) Karnataka

(E} Answer not known

wargor skl Cafu sors Coawa agds Sl sdd. wibms Spemreflsmer Lafiuwigiu
apge wnEleolb ergy?

(A) Csgamr (B) gmuflpma@

C) mmms (D) simm_sn

(E) ofer Qsflweldaanc
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198,

Identify the Personality:

{a} He was honoured with such titles as Hao Sahib, Rao Bahadur and Divan
Bahadur for his selfless social services he did for the marginalized in the caste
order,

(b)  His autobiography is Jeeviya Saritha Surukkam which is one of the earliest
autobiographies.

(¢}  He founded the Adi Dravida Mahajana Sabha.
Who he is?

(A) Thanthai Periyar

@»” Rettai Malai Srinivasan

(C) M.C. Rajah

(D) M. Singaravelar

{E} Answer not known

R (EFEMD L SN ILITETLD STaRTeyLD

(a) s afimedd gméslul ) afsgpdsens et Weabs  gaamoDn  SA0E
Coepusignéans frey wsgt, gres srdll whge Seuren UssT dep UL RGEET
GanRés Seerpellss ol LT

(b  swpm swsfles deflu ofls sumasmb Smbuste swFfomssafia penmmmb.

(€}  sieu Sefl Sprell wamgen senLieow il
ALY et ?

(A)  sbens Guiflwm

(B) @riec wee ylalanse

(C)  snb. AL grgr

(D) enb. Snsamy Gaueoir

(E) el Clafluchidiens
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199. In January 2019, Indian Government approved the merger of three Banks. Which of
the following does not figure in merger?

{A) Dena Bank

(B Vijaya Bank

(C) Bank of Baroda
Q" Lakshmi Vilas Bank
(£}  Answer not known

meraifl 2019-6 ppeng aukdsma goyideanss Gy sos sigyod apiiflug. &psar
ersucunudl @i aymnsdlansme e @b Gupedldena?

(A Cgenm surisl

(B)  ellguwr cunisdl

() wCgmimamiud

(D) eyl dlanay e

(E) dlec Gsflucdaa

200, “Post - Tsunami sustainable livelihood programme for the coastal communities of
Tamil Nadu” is assisted by

(A} World Bank

V International Fund for Agricultural Development
()  Asian Development Bank

(D)  International Monetary Fund

(B} Answer not known

sullppr e o drar s_CGeny wisemdstan semfses S Sowss wmpansty SO0 S8 b
—— e_gRifing.
(A) ocom eukidl

(B) efleusmu Ginbumligpesres steuGgs Hldunb
(C) el cyeriadl sukidl

(D)  sfheulss mramny FHbenn

(E) dfilen. Gafluelidama
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GENERAL STUDIES
(Degree Standard)
Duration : Three Hours] [Total Marks : 300

Read the following instructions earefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

2 This question booklet contming 200 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the guestion
booklet. If any defect is noticed in the question booklet, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete question booklet.
If the defect is reported after the commencement of the examination, it will not be replacod.

4. Answer all the questions. All the questions carry equal marks.

4, You must write your register number in the space provided on the top right side of this page. Do not
write nnything else on the question booklet.

5. An answer gheet will be supplied to you separately by the room invigilator to shade the answers.
Instructipns regarding filling of answers ete., which are to he followsd mandatorily. & '

LT RN Lot

6 You shall write and shade your queation booklet number in the space provided on page one of the
answer sheet with BLACK INE BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

T Ench question comprises of five responses (answers) © Le. (A). (B), (C), (D) and (E). You have to seloct
ONLY ONE carrect answer from (A) or (B} or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for & question, it will be treated as o
wrong answer even if one of the given answers happens to be correct.

&  You should net remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
Aler the examinotion, You must hand owve ur angwer shect to the ipvigilnto (VL AT

9. You should not make any marking in the question booklet except in the sheeis before the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to.

10. Inall matters, the English version is final.

11. Failure to comply with any of the above instructions will render you liable for auch ncton o the
Commission may decide at their discretion.
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